Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Labour Loyalists: Respondent Profile

Count Column N %
Gender Male 983 49%
Female 1027 51%
Total 2010 100%
Age 18-24 141 7%
25-34 451 22%
35-44 478 24%
45-54 451 22%
55-64 334 17%
65+ 155 8%
Socio-Economic Group AB 479 24%
C1 713 35%
C2 537 27%
DE 281 14%
Region South East (inc London) 510 25%
Midlands 381 19%
North 748 37%
Wales & South West 172 9%
Scotland 199 10%
Working Status ZVx;kérll? full time (30+ hrs 1181 599%
wgg(la/%gl?)ﬂ time (8-29 311 15%
ZVx;kérll? part time (1-7 hrs 39 o0,
Not working but seeking
work, temporarily 84 4%
unemployed/sick
\ll\lvgtrlzvorklng/not seeking 77 4%
Retired 249 12%
Student 69 3%

Page 1



Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Labour Loyalists: Respondent Profile

Count Column N %
Housing Tenure Owned outright (without
mortgage) 494 25%
Owned with a mortgage
or loan 939 47%
Rented from Council 138 7%
Rented from housing
association 110 5%
Rented from someone
else 224 1%
Rent free 12 1%
Living with relatives 93 5%
General Election 2010 Labour 2010 100%
Conservative 0 0%
Liberal Democrat 0 0%
UKIP 0 0%
BNP 0 0%
Green Party 0 0%
SNP 0 0%
Plaid Cymru 0 0%
Another party /
independent candidate 0 0%
][c;/roted but can't recall who 0 0%
| did not vote 0 0%
Party Membership Conservative Party 0 0%
Labour Party 958 48%
Liberal Democrats 0 0%
Another party 0 0%
None of these 1052 52%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Labour Loyalists: Respondent Profile

Count Column N %

Union Membership ASLEF 47 3%
BECTU 53 4%
BFAWU 31 2%
COMMUNITY 45 3%
cwu 115 8%
GFTU 26 2%
GMB 217 15%
MU 39 3%
NACODS 23 2%
NUM 41 3%
TSSA 35 2%
UCATT 43 3%
UNISON 608 43%
UNITE/Amicus 261 18%
UNITE/T&G 141 10%
UNITY 29 2%
USDAW 109 8%

Voting History at General Only ever voted for Labour

Elections and never voted for a 1258 63%
different party
Voted for a number of
different parties, not just 721 36%
the Labour Party
Can't remember 31 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Gordon Brown was not a 0 5% 5% 5% 9% 5% 3% 6% 5% 5%
good Prime Minister 1 4% 4% 4% 6% 29, 4% 39% 39% 10%
2 5% 4% 5% 6% 5% 4% 4% 5% 5%
3 6% 6% 6% 5% 6% 6% 5% 8% 5%
4 8% 7% 9% 9% 7% 10% 7% 6% 8%
5 18% 16% 20% 23% 19% 18% 17% 19% 14%
6 1% 10% 12% 8% 11% 12% 12% 9% 12%
7 12% 13% 11% 12% 15% 10% 10% 11% 14%
8 10% 12% 9% 7% 11% 11% 9% 12% 11%
9 9% 10% 8% 5% 8% 10% 11% 7% 8%
1 12% 14% 11% 8% 11% 11% 16% 15% 9%
Voters who switched from 0 2% 2%, 1% 2%, 2% 2% 1% 2%, 1%
e oo 1 2% 2% 1% 3% 2% 1% 1% 2% 1%
right-wing media 2 2% 2% 2% 3% 3% 2% 2% 2% 1%
3 4% 4% 4% 4% 2% 5% 6% 5% 1%
4 6% 6% 6% 4% 6% 6% 7% 6% 4%
5 16% 14% 17% 19% 18% 16% 14% 15% 8%
6 12% 11% 13% 11% 13% 15% 11% 8% 10%
7 17% 17% 17% 18% 19% 17% 17% 16% 19%
8 14% 14% 13% 16% 14% 12% 15% 12% 15%
9 10% 10% 9% 11% 8% 9% 8% 12% 15%
1 16% 17% 16% 10% 14% 13% 17% 22% 25%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Socio-Economic Group Region
South East Wales &

AB C1 c2 DE (inc London) Midlands North South West Scotland

Gordon Brown was not a 0 6% 4% 5% 5% 5% 2% 5% 3% 10%
good Prime Minister ]

5% 3% 3% 4% 4% 4% 4% 2% 6%
2 6% 5% 3% 4% 5% 5% 4% 3% 7%
3 7% 6% 5% 7% 6% 6% 5% 9% 9%
4 7% 8% 8% 8% 8% 10% 7% 5% 8%
5 16% 19% 20% 17% 16% 19% 19% 22% 20%
6 9% 12% 11% 10% 10% 10% 11% 8% 14%
7 14% 12% 10% 10% 13% 11% 12% 10% 10%
8 12% 11% 10% 9% 12% 10% 10% 10% 7%
9 8% 8% 12% 9% 9% 8% 10% 11% 7%
1 11% 12% 12% 17% 13% 14% 12% 16% 6%
Voters who switched from 0 2% 2% 2% 1% 2% 1% 1% 4% 2%

Labour to other parties ] N N N N N N N N N
were ir!ﬂuenceq by the 2 A) 2 A) 1 /o 2 A) 2 A) 2 A) 1 /o 2 /o 1 A)
right-wing media 2 1% 3% 2% 3% 2% 2% 2% 2% 3%
3 5% 5% 4% 2% 4% 4% 5% 3% 4%
4 4% 6% 7% 6% 5% 7% 5% 6% 8%
5 14% 15% 18% 16% 15% 16% 17% 15% 13%
6 10% 13% 12% 12% 11% 11% 11% 9% 18%
7 19% 18% 14% 18% 19% 17% 16% 21% 16%
8 13% 13% 15% 13% 12% 16% 15% 11% 13%
9 12% 9% 9% 11% 11% 9% 10% 11% 8%
1 18% 16% 16% 16% 16% 16% 16% 17% 17%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student

Gordon Brown was not a 0 5% 3% 8% 6% 3% 4% 10%
good Prime Minister 1 4% 3% 5% 8% 1% 6% 3%
2 5% 6% 5% 2% 5% 4% 4%

3 6% 5% 10% 6% 9% 8% 4%

4 7% 10% 8% 13% 6% 6% 9%

5 18% 22% 26% 18% 16% 16% 22%

6 11% 12% 5% 12% 13% 11% 6%

7 13% 11% 5% 4% 9% 11% 12%

8 11% 8% 10% 7% 9% 12% 7%

9 9% 11% 5% 10% 10% 7% 10%

1 12% 11% 13% 14% 18% 16% 10%

Voters who switched from 0 29/, 1% 3% 29, 3% 1% 1%
rare e anne s 1 2% 1% 5% 1% 4% 0% 0%
right-wing media 2 2% 2% 5% 0% 3% 1% 7%
3 5% 3% 0% 2% 6% 4% 0%

4 7% 5% 10% 4% 6% 3% 6%

5 16% 16% 23% 21% 14% 10% 20%

6 12% 14% 15% 6% 12% 10% 12%

7 18% 19% 5% 15% 14% 18% 20%

8 13% 14% 8% 23% 10% 14% 14%

9 9% 11% 5% 7% 10% 13% 10%

1 15% 15% 21% 18% 17% 27% 9%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Gordon Brown was not a 0 4% 5% 4% 8% 5% 17% 8% 6%
good Prime Minister 1 4% 3% 4% 6% 4% 0% 7% 4%
2 4% 5% 5% 6% 5% 0% 3% 5%
3 8% 6% 4% 6% 5% 8% 5% 6%
4 6% 9% 7% 6% 8% 8% 5% 8%
5 15% 19% 17% 18% 17% 50% 25% 17%
6 13% 11% 11% 7% 9% 0% 8% 10%
7 12% 12% 12% 10% 11% 8% 11% 12%
8 13% 10% 7% 7% 10% 8% 11% 10%
9 7% 9% 9% 9% 13% 0% 8% 8%
1 13% 10% 20% 17% 15% 0% 10% 12%
Voters who switched from | 0 1% 2% 1% 3% 2% 0% 2% 2%
e oo 1 1% 2% 3% 1% 1% 0% 2% 2%
right-wing media 2 1% 2% 1% 2% 3% 0% 3% 2%
3 4% 5% 4% 3% 2% 0% 5% 3%
4 5% 6% 8% 1% 6% 17% 4% 5%
5 12% 17% 18% 16% 15% 33% 16% 15%
6 10% 12% 12% 17% 12% 0% 11% 10%
7 20% 18% 19% 12% 14% 17% 13% 19%
8 14% 12% 13% 17% 14% 8% 17% 14%
9 11% 8% 9% 8% 13% 17% 14% 10%
1 20% 15% 11% 22% 19% 8% 12% 19%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU | NACODS | NUM TSSA | UCATT

Gordon Brown was nota | 0 4% 29 0% 2% 2% 4% 6% 3% 0% 5% 0% 5%
good Prime Minister 1 4% 29, 0% 2% 3% 0% 3% 8% 4% 5% 3% 5%
2 29 6% 0% 2% 4% 4% 3% 5% 4% 3% 3% 29

3 4% 4% 7% 2% 5% 0% 7% 3% 4% 8% 3% 7%

4 29 6% 0% 5% 7% 8% 7% 8% 4% 5% 6% 0%

5 4% 4% 3% 0% 13% 8% 18% 10% 0% 8% 6% 7%

6 26% 239% 20% 25% 17% 27% 12% 10% 30% 18% 24% 239

7 30% 28% 50% 34% 19% 42% 14% 38% 48% 33% 36% 37%

8 4% 8% 7% 14% 10% 4% 10% 3% 0% 8% 0% 0%

9 4% 4% 7% 5% 6% 0% 9% 5% 0% 3% 6% 29

1 15% 15% 7% 9% 14% 4% 10% 8% 4% 8% 12% 12%

Voters who switched from | 0 29, 0% 0% 0% 19 4% 19 3% 0% 5% 0% 29
e oo 1 4% 6% 3% 4% 1% 0% 3% 13% 13% 10% 9% 2%
right-wing media 2 0% 2% 3% 0% 2% 0% 1% 0% 0% 0% 0% 0%
3 29 0% 3% 2% 4% 0% 6% 0% 0% 0% 3% 0%

4 29% 6% 3% 29 4% 0% 7% 3% 0% 0% 6% 5%

5 9% 4% 6% 9% 11% 4% 14% 8% 0% 12% 6% 5%

6 17% 17% 6% 18% 7% 19% 14% 10% 13% 17% 12% 14%

7 36% 36% 429% 36% 27% 50% 219% 36% 529% 41% 38% 48%

8 13% 13% 239, 13% 14% 19% 12% 10% 13% 12% 15% 12%

9 4% 11% 6% 4% 8% 4% 10% 13% 9% 29 12% 7%

1 11% 6% 39% 11% 20% 0% 11% 5% 0% 0% 0% 5%

Page 8



Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
GorgoFr; ,BrO\?\/Ary vlva;s nota |0 6% 4% 4% 0% 0% 5% 5%
ood Prime Minister

g 1 4% 3% 3% 0% 3% 5% 3%
2 5% 5% 2% 0% 3% 4% 5%
3 5% 6% 3% 3% 9% 6% 6%
4 9% 8% 5% 3% 7% 8% 8%
5 19% 18% 14% 3% 18% 19% 16%
6 11% 11% 19% 31% 16% 11% 10%
7 15% 12% 16% 34% 16% 12% 12%
8 9% 11% 11% 7% 7% 10% 12%
9 7% 9% 11% 3% 12% 8% 10%
1 11% 11% 14% 14% 9% 12% 14%

Voters who switched from 0 2% 2% 2% 0% 0% 1% 3%

Labour to other parties

were influenced %y the 1 1% 2% 3% 3% 3% 2% 1%

right-wing media 2 3% 2% 0% 3% 4% 2% 2%
3 5% 2% 5% 0% 3% 4% 4%
4 6% 6% 4% 7% 2% 6% 6%
5 14% 15% 13% 3% 16% 16% 15%
6 15% 11% 11% 14% 14% 12% 12%
7 19% 18% 19% 45% 26% 17% 18%
8 13% 15% 16% 14% 16% 14% 13%
9 9% 11% 12% 3% 9% 10% 9%
1 15% 18% 14% 7% 8% 16% 17%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender Age
Total Male | Female | 1824 | 2534 | 3544 | 4554 | 5564 65+
Labour did not keep the 0 3% 4% 2% 4% 2% 2% 4% 4% 7%
T oo 2t 1 4% 4% 5% 5% 4% 5% 4% 6% 4%
2 6% 7% 6% 5% 5% 5% 5% 9% 12%
3 9% 10% 8% 11% 9% 10% 8% 9% 9%
4 11% 11% 11% 11% 10% 11% 12% 11% 7%
5 22% 19% 25% 23% 21% 23% 23% 16% 24%
6 15% 15% 15% 16% 19% 15% 13% 14% 9%
7 13% 14% 12% 6% 15% 12% 12% 14% 14%
8 7% 7% 7% 15% 8% 5% 5% 6% 7%
9 4% 5% 3% 4% 4% 5% 6% 3% 3%
1 6% 6% 6% 2% 4% 6% 9% 7% 3%
Many voters did not fully | 0 1% 1% 0% 2% 1% 0% 1% 0% 1%
appreciate what Labour 1% 1% 1% 1% 2% 0% 1% 1% 0%
government 2 1% 2% 1% 1% 0% 2% 2% 0% 0%
3 3% 3% 2% 4% 3% 4% 2% 1% 1%
4 4% 4% 4% 5% 6% 4% 4% 3% 3%
5 11% 10% 12% 18% 14% 11% 11% 9% 3%
6 11% 12% 11% 11% 12% 14% 12% 8% 5%
7 17% 16% 17% 13% 20% 18% 16% 15% 12%
8 16% 17% 15% 17% 16% 18% 14% 18% 13%
9 15% 15% 14% 11% 11% 12% 14% 18% 26%
1 21% 19% 22% 16% 15% 17% 22% 27% 37%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Socio-Economic Group Region
South East Wales &
AB C1 c2 DE (inc London) Midlands North South West Scotland
Labour di('it nOtclj(eeFtJ the 0 5% 3% 3% 3% 3% 2% 3% 5% 5%
romises it made a

Brevious e|ections 1 6% 4% 40/0 3% 4% 4% 50/0 40/0 4%
2 9% 6% 4% 4% 6% 6% 6% 5% 10%

3 10% 10% 8% 8% 11% 9% 8% 10% 9%

4 9% 14% 10% 6% 13% 8% 11% 8% 11%

5 17% 21% 24% 28% 21% 23% 22% 20% 20%

6 14% 15% 14% 17% 13% 20% 15% 11% 13%

7 15% 12% 12% 12% 14% 13% 12% 15% 15%

8 6% 7% 8% 5% 8% 7% 7% 6% 5%

9 3% 4% 5% 5% 2% 4% 5% 5% 7%

1 5% 4% 7% 8% 5% 6% 6% 11% 4%

Many voters did not fully 0 1% 1% 1% 1% 1% 0% 1% 1% 1%
appreciate what Labour ™ 19 19 1% 1% 19 19 1% 29 19
had achieved in ° ° ° ° ° ° ° ° °
government 2 1% 1% 1% 1% 1% 1% 1% 1% 1%
3 2% 4% 2% 2% 3% 3% 2% 2% 4%

4 3% 4% 5% 6% 5% 5% 4% 2% 3%

5 8% 10% 14% 13% 11% 12% 12% 9% 10%

6 7% 13% 12% 12% 12% 9% 11% 9% 16%

7 18% 17% 16% 14% 15% 18% 17% 18% 16%

8 17% 16% 16% 15% 17% 17% 14% 20% 17%

9 15% 16% 14% 13% 15% 14% 15% 14% 13%

1 27% 18% 18% 21% 20% 20% 22% 22% 20%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Not working
but seeking
Working full Working part Working part tem“p,)cc))rrlgrily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student

Labour did not keep the 0 3% 2% 5% 4% 1% 5% 3%
gﬁg;?gsue:;}e@ﬁgﬁ . 1 4% 5% 8% 7% 5% 5% 4%
2 6% 7% 5% 4% 4% 10% 4%

3 9% 7% 3% 14% 12% 10% 16%

4 12% 9% 11% 7% 10% 9% 10%

5 20% 27% 32% 24% 22% 20% 19%

6 16% 14% 8% 14% 14% 11% 14%

7 13% 14% 8% 7% 10% 15% 9%

8 7% 6% 8% 8% 5% 6% 12%

9 5% 3% 3% 2% 4% 5% 6%

1 6% 5% 11% 7% 12% 6% 3%

Many voters did not fully 0 1% 0% 0% 0% 0% 0% 0%
appreciate what Labour 7 1% 1% 0% 1% 3% 0% 1%
government 2 1% 1% 3% 1% 1% 0% 1%
3 3% 2% 3% 1% 1% 1% 6%

4 4% 6% 8% 4% 1% 2% 7%

5 12% 9% 26% 14% 14% 5% 13%

6 13% 11% 3% 10% 13% 5% 13%

7 18% 18% 13% 10% 12% 16% 12%

8 17% 16% 11% 15% 14% 13% 17%

9 13% 14% 11% 18% 16% 22% 10%

1 17% 21% 24% 26% 25% 35% 19%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Labour did not keep the 0 4% 3% 0% 5% 3% 0% 3% 5%
promises it made at
previous e|ections 1 5°/O 4°/o 4°/o 2°/o 5°/o 80/0 40/0 60/0
2 7% 7% 10% 3% 4% 0% 3% 6%
3 9% 8% 10% 7% 14% 8% 9% 9%
4 9% 12% 9% 5% 11% 25% 13% 10%
5 21% 22% 15% 29% 21% 42% 23% 22%
6 14% 15% 19% 14% 14% 8% 16% 14%
7 15% 13% 14% 13% 9% 0% 6% 12%
8 6% 6% 8% 10% 8% 0% 17% 8%
9 4% 5% 1% 5% 4% 8% 2% 4%
10 6% 5% 10% 8% 6% 0% 3% 6%
Many voters did not fully 0 1% 1% 0% 0% 1% 0% 1% 1%
appreciate what Labour ]
had achieved iﬂ 1 °/o 1 °/o 1 °/o 2°/o 1 °/o Oo/o 1 °/o 1 °/o
government 2 1% 1% 2% 1% 0% 0% 1% 1%
3 2% 3% 5% 3% 2% 0% 3% 3%
4 3% 5% 6% 4% 2% 17% 8% 4%
5 8% 12% 14% 17% 9% 17% 17% 12%
6 9% 12% 13% 10% 12% 17% 12% 10%
7 17% 18% 15% 15% 16% 8% 10% 15%
8 16% 15% 14% 15% 20% 25% 20% 14%
9 16% 15% 13% 7% 15% 17% 15% 15%
10 27% 19% 18% 26% 22% 0% 12% 25%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | cwu | GFTU GMB MU___ | NACODS | NUM TSSA | UCATT

Labour did not keep the 0 2% 0% 0% 0% 4% 4% 3% 3% 0% 2% 0% 2%
T oo 2t 1 2% 4% 0% 2% 4% 0% 6% 5% 5% 5% 3% 0%
2 4% 2% 3% 2% 2% 0% 6% 0% 0% 2% 0% 9%

3 0% 8% 3% 4% 4% 4% 10% 3% 0% 7% 0% 5%

4 4% 4% 0% 4% 8% 0% 7% 5% 0% 0% 3% 2%

5 4% 4% 0% 7% 17% 8% 19% 11% 0% 5% 13% 14%

6 32% 31% 32% 36% 26% 31% 18% 32% 50% 27% 38% 23%

7 34% 29% 35% 24% 20% 35% 12% 24% 32% 29% 31% 33%

8 9% 8% 16% 11% 5% 15% 8% 18% 14% 15% 13% 12%

9 4% 4% 0% 4% 2% 4% 6% 0% 0% 2% 0% 0%

1 4% 8% 10% 4% 9% 0% 5% 0% 0% 5% 0% 0%

Many voters did not fully | 0 2% 0% 0% 0% 0% 4% 1% 3% 0% 2% 0% 2%
appreciate what Labour 0% 2% 0% 2% 1% 0% 3% 3% 4% 2% 0% 0%
government 2 2% 4% 6% 7% 1% 0% 2% 5% 4% 5% 6% 2%
3 0% 0% 0% 0% 3% 4% 3% 3% 0% 2% 6% 0%

4 4% 2% 3% 9% 7% 12% 5% 3% 0% 7% 6% 2%

5 11% 8% 6% 9% 10% 4% 9% 10% 4% 7% 6% 12%

6 26% 25% 26% 20% 16% 19% 14% 21% 35% 22% 15% 23%

7 34% 26% 39% 38% 24% 46% 22% 28% 43% 32% 41% 33%

8 6% 6% 6% 2% 10% 4% 12% 10% 4% 5% 9% 12%

9 6% 11% 6% 4% 10% 8% 16% 8% 4% 10% 9% 5%

1 9% 17% 6% 9% 17% 0% 12% 8% 0% 5% 3% 9%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Labour did not keep the 0 3% 2% 4% 3% 1% 4% 2%
T oo 2t 1 5% 3% 4% 0% 3% 4% 5%
2 6% 8% 6% 3% 1% 7% 5%
3 9% 8% 7% 10% 7% 10% 8%
4 12% 10% 12% 3% 8% 11% 10%
5 20% 22% 14% 3% 20% 22% 21%
6 17% 15% 16% 28% 22% 15% 15%
7 14% 15% 17% 31% 17% 12% 16%
8 7% 6% 12% 14% 9% 7% 7%
9 4% 6% 2% 0% 6% 5% 3%
1 4% 6% 5% 3% 6% 5% 8%
Many voters did not fully 0 1% 1% 1% 0% 0% 1% 1%
appreciate what Labour 7 0% 1% 1% 0% 0% 1% 1%
government 2 1% 2% 2% 4% 2% 1% 2%
3 2% 0% 1% 0% 4% 2% 3%
4 4% 3% 3% 4% 4% 4% 4%
5 10% 8% 10% 4% 11% 11% 12%
6 12% 10% 11% 21% 19% 11% 12%
7 16% 25% 25% 43% 25% 16% 17%
8 19% 15% 15% 4% 13% 17% 15%
9 15% 14% 13% 7% 14% 14% 15%
1 19% 20% 19% 14% 9% 22% 19%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Many of Labour's policies 0 7% 7% 7% 6% 7% 6% 7% 7% 9%
were wrong 1 8% 8% 8% 10% 6% 8% 6% 11% 11%
2 10% 1% 10% 9% 8% 1% 11% 10% 13%
3 12% 1% 14% 16% 13% 12% 13% 12% 12%
4 11% 1% 12% 11% 14% 12% 11% 8% 10%
5 22% 20% 23% 21% 18% 25% 25% 21% 19%
6 10% 10% 9% 12% 12% 9% 8% 9% 9%
7 9% 10% 8% 5% 14% 8% 7% 8% 8%
8 5% 5% 4% 6% 4% 4% 5% 6% 3%
9 2% 2% 2% 1% 2% 3% 3% 1% 1%
1 4% 5% 4% 3% 3% 4% 4% 6% 5%
Labour spent too much 0 2% 3% 2% 3% 2% 3% 3% 2% 3%
e olaas abpoal to 1 3% 3% 3% 4% 3% 3% 2% 3% 3%
voters, and lost the 2 4% 3% 5% 6% 4% 4% 4% 3% 3%
support of many
traditional, working class 3 6% 5% 7% 9% 8% 6% 5% 4% 6%
supporters as a result. 4 7% 6% 8% 10% 7% 8% 7% 5% 6%
5 19% 19% 18% 23% 18% 20% 18% 20% 1%
6 14% 16% 13% 1% 18% 17% 14% 9% 14%
7 16% 14% 17% 11% 16% 16% 16% 17% 18%
8 12% 13% 11% 12% 1% 1% 12% 15% 12%
9 7% 7% 6% 6% 7% 6% 7% 7% 10%
1 10% 10% 9% 6% 6% 5% 13% 15% 14%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Socio-Economic Group Region
South East Wales &
AB C1 c2 DE (inc London) Midlands North South West Scotland
Many of Labour's policies | 0 8% 7% 6% 6% 7% 5% 7% 9% 6%
were wrong
1 11% 7% 7% 6% 10% 7% 8% 9% 7%
2 13% 10% 9% 6% 11% 11% 9% 6% 11%
3 o, o, 0, o, o, o, o, 0, [
12% 14% 12% 10% 12% 12% 13% 12% 11%
4 o, o o o, o, o, o o, o,
12% 11% 11% 13% 11% 11% 11% 12% 15%
5 17% 21% 25% 25% 20% 24% 22% 22% 21%
6 7% 11% 9% 12% 10% 10% 9% 9% 11%
7 9% 10% 8% 8% 9% 7% 10% 9% 8%
8 5% 4% 5% 6% 5% 5% 5% 3% 4%
9 2% 2% 3% 2% 2% 2% 2% 4% 3%
1 4% 3% 5% 6% 4% 5% 4% 5% 4%
{-,abotur,Spetnt too mtlxt:h 0 3% 2% 3% 3% 3% 1% 2% 3% 4%
Ime trying 1o appeal 1o
g 0 20p 1 4% 3% 3% 29, 3% 3% 4% 0% 3%
middle class swing
gg;egghagfdnlgitythe 2 4% 5% 3% 4% 4% 4% 3% 5% 4%
traditional, working class 3 8% 6% 6% 4% 7% 5% 5% 6% 7%
supporters as a result. 4 7% 7% 6% 11% 7% 9% 6% 9% 8%
5 15% 19% 21% 19% 20% 19% 20% 13% 15%
6 15% 17% 12% 12% 14% 14% 16% 13% 14%
7 19% 16% 14% 12% 13% 14% 17% 19% 18%
8 11% 11% 13% 14% 13% 14% 10% 11% 13%
9 7% 6% 7% 8% 8% 6% 6% 9% 7%
1 9% 9% 11% 12% 8% 11% 10% 11% 11%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Many of Labour's policies | 0 6% 6% 8% 13% 7% 9% 6%
were wrong
1 8% 7% 17% 7% 8% 9% 10%
2 10% 10% 3% 12% 13% 11% 7%
3 12% 13% 19% 12% 9% 13% 19%
4 12% 12% 11% 11% 9% 7% 13%
5 21% 25% 31% 23% 24% 19% 17%
6 11% 8% 3% 10% 8% 9% 12%
7 10% 6% 3% 2% 5% 11% 10%
8 4% 7% 3% 6% 5% 4% 1%
9 2% 2% 0% 0% 4% 1% 3%
1 4% 3% 3% 5% 8% 7% 1%
Labour spent too much 0 3% 2% 0% 1% 1% 2% 4%
time trying to appeal to
middle class swing 1 3% 3% 0% 2% 3% 2% 1%
voters, and lost the 2 4% 3% 13% 6% 1% 2% 4%
support of many
traditional, working class 3 6% 5% 10% 1% 8% 6% 14%
supporters as a result. 4 7% 6% 5% 12% 14% 4% 13%
5 19% 22% 26% 20% 14% 16% 14%
6 16% 13% 13% 14% 12% 11% 12%
7 16% 20% 8% 6% 14% 16% 16%
8 11% 13% 8% 17% 14% 13% 6%
9 6% 6% 8% 5% 9% 9% 12%
1 8% 8% 10% 15% 9% 18% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Many of Labour's policies | 0 7% 6% 10% 10% 10% 0% 2% 8%
were wrong 1 9% 8% 9% 7% 8% 0% 3% 9%
2 10% 10% 10% 6% 10% 0% 16% 11%
3 12% 13% 6% 10% 17% 8% 16% 10%
4 9% 12% 13% 8% 10% 25% 17% 10%
5 19% 24% 23% 23% 19% 58% 17% 20%
6 9% 11% 6% 14% 9% 0% 6% 10%
7 12% 8% 7% 8% 8% 8% 9% 9%
8 5% 3% 7% 7% 4% 0% 10% 5%
9 2% 2% 1% 1% 2% 0% 3% 3%
1 5% 3% 9% 6% 5% 0% 0% 5%
Labour spent too much 0 3% 2% 2% 4% 2% 0% 4% 3%
e olaas abpoal to 1 3% 3% 2% 3% 2% 0% 5% 4%
voters, and lost the 2 3%, 5% 4% 20 4% 0% 4% 4%
support of many
traditional, working class 3 6% 6% 6% 4% 8% 17% 6% 6%
supporters as a result. 4 6% 8% 9% 6% 8% 8% 6% 8%
5 16% 21% 16% 18% 17% 25% 19% 18%
6 15% 16% 17% 9% 10% 8% 12% 14%
7 16% 16% 11% 16% 19% 25% 14% 15%
8 14% 11% 15% 14% 11% 0% 9% 12%
9 7% 6% 7% 14% 7% 8% 9% 7%
1 12% 7% 12% 11% 13% 8% 11% 10%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | CwuU GFTU GMB MU NACODS | NUM TSSA UCATT

Many of Labour's policies | 0 2% 0% 3% 0% 6% 4% 6% 5% 0% 5% 0% 7%

were wrong 1 29, 6% 0% 2% 4% 0% 8% 15% 9% 10% 9% 7%

2 4% 6% 0% 2% 5% 0% 7% 3% 0% 2% 0% 5%

3 2% 9% 6% 9% 7% 8% 7% 3% 0% 5% 6% 0%

4 2% 9% 0% 4% 14% 0% 9% 3% 0% 5% 6% 2%

5 15% 1% 3% 13% 17% 0% 21% 8% 0% 5% 3% 16%

6 21% 15% 23% 20% 15% 31% 14% 18% 26% 22% 21% 23%

7 26% 26% 39% 29% 15% 38% 15% 26% 43% 27% 35% 26%

8 11% 9% 16% 1% 12% 19% 7% 15% 17% 15% 15% 12%

9 4% 0% 0% 2% 1% 0% 1% 3% 0% 0% 3% 0%

1 11% 8% 10% 7% 4% 0% 4% 3% 4% 5% 3% 2%

Labour spent too much 0 2% 0% 0% 4% 1% 0% 1% 0% 0% 0% 0% 2%

e olaas abpoal to 1 4% 4% 3% 2% 0% 4% 5% 8% 4% 7% 3% 2%

voters, and lost the 2 6% 4% 0% 0% 5% 0% 3% 3% 4% 5% 3% 2%
support of many

traditional, working class 3 0% 6% 0% 4% 6% 4% 2% 5% 0% 5% 6% 0%

supporters as a result. 4 9% 6% 3% 7% 8% 0% 9% 8% 9% 5% 6% 2%

5 6% 2% 3% 4% 12% 4% 17% 10% 0% 10% 3% 10%

6 34% 36% 35% 33% 24% 50% 16% 31% 43% 34% 29% 38%

7 17% 17% 35% 27% 14% 19% 18% 18% 26% 15% 26% 21%

8 9% 13% 16% 9% 13% 12% 13% 13% 9% 15% 21% 14%

9 4% 9% 3% 7% 6% 4% 8% 5% 4% 2% 3% 2%

1 9% 4% 0% 2% 10% 4% 7% 0% 0% 2% 0% 5%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Many of Labour's policies | 0 6% 6% 7% 3% 1% 7% 7%
were wron
9 1 8% 7% 5% 0% 7% 9% 7%
2 8% 12% 7% 10% 4% 10% 9%
3 13% 12% 12% 0% 16% 12% 13%
4 13% 10% 9% 3% 9% 12% 11%
5 21% 20% 19% 0% 27% 21% 22%
6 11% 10% 12% 24% 13% 10% 10%
7 11% 10% 14% 31% 11% 9% 9%
8 4% 5% 6% 17% 6% 5% 4%
9 2% 2% 4% 3% 4% 2% 3%
1 2% 6% 6% 7% 3% 4% 5%
{_.abotur.spetnt too mllJct:h 0 2% 2% 2% 0% 2% 2% 3%
ime trying to appeal to
middle class swing 1 2% 3% 4% 3% 2% 3% 2%
\nggegg,rtag}dnigﬁythe 2 4% 4% 4% 0% 6% 4% 4%
traditional, working class 3 6% 6% 5% 0% 4% 6% 7%
supporters as a result. 4 7% 5% 5% 10% 4% 8% 6%
5 18% 20% 12% 0% 17% 19% 17%
6 17% 17% 21% 41% 20% 14% 16%
7 17% 13% 19% 21% 17% 16% 16%
8 11% 11% 14% 10% 17% 12% 12%
9 7% 7% 6% 3% 5% 6% 7%
1 9% 12% 9% 10% 8% 10% 9%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Labour seemed to have 0 6% 7% 5% 7% 4% 6% 7% 6% 10%
E:llje?acr)ll;/t r?é:cti%%n;’ saggll out || 6% 5% 6% 6% 5% 7% 5% 5% 6%
of government 2 7% 5% 9% 6% 6% 7% 7% 10% 7%
3 9% 8% 9% 11% 8% 8% 9% 10% 7%
4 9% 8% 9% 7% 9% 9% 8% 8% 9%
5 20% 20% 20% 20% 20% 21% 21% 19% 16%
6 12% 12% 13% 10% 14% 13% 1% 12% 10%
7 13% 15% 12% 15% 15% 13% 11% 13% 15%
8 9% 10% 7% 9% 10% 7% 9% 9% 8%
9 5% 7% 4% 6% 6% 6% 5% 3% 8%
1 5% 5% 5% 3% 4% 4% 7% 5% 5%
Labour were particularly 0 9% 11% 8% 10% 6% 7% 10% 12% 14%
2%2%%’&?'3'&5% g1$e 1 8% 9% 6% 6% 5% 8% 6% 12% 11%
expenses as they werein | 2 7% 8% 6% 4% 5% 7% 9% 9% 10%
government at the time
3 10% 8% 12% 9% 10% 11% 9% 11% 7%
4 10% 10% 11% 9% 10% 11% 13% 7% 11%
5 18% 18% 19% 23% 18% 19% 21% 15% 13%
6 11% 1% 12% 11% 12% 12% 10% 11% 10%
7 10% 10% 10% 12% 14% 11% 7% 5% 8%
8 7% 7% 7% 10% 8% 6% 7% 7% 6%
9 4% 4% 3% 1% 4% 3% 3% 5% 6%
1 6% 5% 6% 4% 6% 6% 6% 5% 4%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Socio-Economic Group Region
South East Wales &
AB C1 c2 DE (inc London) Midlands North South West Scotland
Labour seemed to have 0 6% 6% 7% 5% 5% 5% 7% 6% 6%
run out of steam, and
Clearly needed a Spe“ out 1 6% 5% 50/0 7% 6% 6% 60/0 50/0 4%
of government 2 8% 7% 6% 7% 7% 9% 5% 6% 11%
3 9% 8% 8% 9% 9% 7% 10% 8% 7%
4 8% 9% 9% 9% 8% 8% 9% 8% 11%
5 15% 19% 24% 23% 19% 21% 21% 19% 16%
6 14% 12% 13% 9% 11% 13% 13% 12% 12%
7 16% 15% 10% 9% 14% 14% 12% 12% 16%
8 9% 9% 7% 9% 9% 10% 7% 9% 10%
9 5% 5% 6% 6% 6% 3% 6% 9% 4%
1 5% 4% 6% 7% 6% 4% 4% 6% 5%
Labour \{\ﬁref pa{ﬁicularly 0 12% 8% 8% 9% 9% 7% 11% 11% 8%
responsible for the
Sca'::]dal over MPS 1 1 1% 8% 60/0 7% 10% 7% 70/0 60/0 7%
expenses as they werein | 2 9% 7% 6% 8% 7% 8% 7% 5% 10%
government at the time
3 8% 12% 11% 6% 8% 11% 9% 12% 14%
4 9% 11% 10% 9% 11% 11% 8% 12% 13%
5 15% 16% 22% 21% 19% 20% 19% 14% 16%
6 11% 13% 11% 10% 12% 12% 11% 12% 10%
7 9% 10% 9% 10% 9% 8% 11% 8% 13%
8 7% 8% 6% 9% 8% 8% 7% 6% 4%
9 4% 3% 4% 5% 4% 4% 4% 5% 3%
1 5% 5% 7% 7% 5% 5% 6% 9% 6%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Labour seemed to have 0 6% 4% 5% 8% 4% 9% 7%
run out of steam, and
Clearly needed a Spe“ out 1 50/0 50/0 100/0 130/0 60/0 5% 6%
of government 2 6% 8% 10% 7% 12% 7% 12%
3 9% 8% 5% 13% 10% 8% 6%
4 9% 10% 8% 8% 9% 7% 7%
5 19% 22% 31% 19% 17% 20% 22%
6 13% 13% 13% 7% 5% 11% 12%
7 14% 14% 5% 4% 13% 13% 12%
8 9% 6% 3% 8% 8% 8% 9%
9 6% 5% 3% 5% 4% 6% 7%
1 4% 5% 8% 7% 12% 6% 1%
Labour were particularly 0 9% 6% 13% 14% 11% 13% 7%
responsible for the
Scandal over MPS 1 80/0 70/0 1 30/0 8°/o 70/0 1 1% 1%
Séegpﬁgsé as ;P%Vﬁqrg in |2 7% 7% 5% 2% 4% 10% 9%
3 10% 10% 10% 8% 11% 9% 9%
4 11% 10% 10% 8% 13% 7% 13%
5 18% 19% 26% 24% 20% 15% 18%
6 11% 13% 8% 12% 5% 12% 13%
7 11% 9% 0% 6% 8% 7% 15%
8 7% 10% 3% 6% 9% 5% 9%
9 3% 2% 5% 2% 7% 7% 4%
1 5% 8% 8% 7% 7% 5% 1%

Page 24



Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Labour seemed to have 0 6% 6% 7% 8% 6% 0% 7% 7%
E:lljer:acr)ll;/t r? é:cti%?jn;’ sa p?gll out 1 4% 6% 8% 6% 6% 0% 4% 6%
of government 2 7% 8% 5% 5% 6% 8% 7% 6%
3 8% 9% 8% 11% 7% 17% 7% 6%
4 8% 8% 9% 9% 12% 8% 9% 8%
5 18% 22% 20% 17% 17% 33% 20% 19%
6 11% 13% 9% 11% 13% 17% 9% 13%
7 15% 13% 10% 10% 12% 0% 17% 13%
8 10% 7% 9% 9% 9% 0% 14% 9%
9 6% 5% 8% 6% 4% 8% 4% 5%
1 6% 4% 7% 6% 8% 8% 3% 6%
Labour were particularly 0 11% 9% 9% 12% 7% 8% 6% 9%
2%3%%2?'&%50& IchSe 1 9% 8% 6% 3% 11% 0% 4% 8%
expenses as they were in 2 8% 8% 7% 3% 5% 8% 3% 7%
government at the time
3 10% 10% 8% 6% 7% 8% 13% 9%
4 8% 11% 9% 9% 10% 42% 11% 10%
5 15% 19% 19% 25% 20% 17% 15% 18%
6 13% 11% 9% 11% 9% 0% 16% 12%
7 9% 10% 11% 11% 10% 8% 10% 10%
8 6% 6% 10% 8% 7% 0% 14% 7%
9 5% 3% 4% 3% 4% 8% 2% 4%
1 5% 4% 8% 10% 10% 0% 5% 6%




Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS NUM TSSA UCATT

Labour seemed to have 0 2% 0% 0% 2% 6% 0% 6% 3% 0% 0% 6% 0%

e e & out |1 4% 6% 0% 2% 2% 4% 7% 10% 4% 7% 6% 7%

of government 2 4% 4% 0% 2% 7% 0% 5% 3% 0% 2% 0% 7%

3 0% 6% 6% 4% 8% 4% 6% 5% 0% 5% 3% 2%

4 4% 4% 0% 2% 4% 4% 7% 5% 0% 5% 3% 7%

5 17% 9% 10% 11% 18% 8% 24% 8% 0% 10% 0% 10%

6 21% 19% 13% 24% 15% 19% 15% 13% 35% 12% 17% 17%

7 28% 30% 42% 33% 20% 42% 14% 33% 43% 34% 46% 38%

8 9% 11% 23% 13% 9% 12% 7% 13% 13% 17% 14% 10%

9 2% 2% 3% 0% 6% 4% 5% 5% 0% 0% 3% 0%

1 9% 9% 3% 4% 5% 4% 5% 3% 4% 7% 3% 2%

Labour were particularly 0 6% 2% 0% 0% 9% 0% 8% 3% 0% 0% 0% 7%

L‘ZZ%%’;?'E'VZI%E“S‘* 1 6% 4% 3% 0% 4% 4% 7% 13% 9% 5% 6% 7%

expenses as they werein | 2 2% 4% 3% 9% 4% 4% 6% 3% 0% 2% 6% 2%
government at the time

3 6% 6% 0% 7% 1% 0% 10% 8% 0% 2% 6% 0%

4 6% 6% 6% 2% 9% 4% 10% 0% 0% 2% 0% 0%

5 6% 6% 0% 13% 12% 4% 15% 8% 0% 15% 9% 9%

6 17% 19% 16% 18% 12% 23% 15% 15% 26% 20% 15% 16%

7 34% 28% 45% 38% 23% 46% 13% 36% 52% 34% 41% 40%

8 6% 19% 13% 9% 9% 12% 6% 10% 9% 12% 15% 12%

9 2% 4% 3% 2% 4% 4% 4% 3% 4% 2% 3% 5%

1 6% 4% 10% 2% 5% 0% 6% 3% 0% 5% 0% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Laboug s?etrned to hgve 0 6% 4% 6% 0% 1% 7% 5%
run out of steam, an
1 5% 6% 6% 3% 7% 6% 4%
clearly needed a spell out
of government 2 7% 8% 9% 0% 6% 8% 6%
3 9% 10% 7% 0% 8% 8% 9%
4 9% 5% 4% 3% 7% 9% 8%
5 17% 18% 19% 10% 15% 20% 19%
6 14% 13% 16% 21% 10% 12% 13%
7 15% 15% 17% 38% 29% 12% 14%
8 8% 9% 10% 17% 7% 9% 9%
9 5% 4% 2% 3% 6% 5% 7%
1 5% 7% 4% 3% 3% 4% 6%
Labour were particularly 0 10% 9% 9% 0% 4% 9% 10%
responsible for the
Scandal over MPS 1 6% 12% 30/0 3% 60/0 90/0 70/0
expenses as they were in 2 7% 9% 5% 0% 4% 8% 7%
government at the time
3 10% 10% 7% 3% 7% 9% 10%
4 10% 8% 7% 7% 4% 10% 10%
5 18% 15% 16% 10% 20% 18% 18%
6 12% 10% 16% 17% 15% 12% 10%
7 12% 11% 19% 45% 15% 10% 10%
8 7% 8% 11% 10% 14% 6% 8%
9 3% 3% 4% 3% 6% 4% 4%
1 5% 5% 3% 0% 6% 5% 6%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Labour did not seem to 0 3% 3% 3% 4% 4% 1% 2% 5% 4%
have answers on a range
of important issues, 1 4% 5% 4% 4% 4% 5% 2% 7% 4%
including immigration 2 6% 6% 6% 9% 6% 4% 7% 8% 5%
and the economy
3 8% 9% 7% 10% 6% 10% 7% 9% 8%
4 9% 8% 10% 10% 11% 9% 7% 7% 9%
5 20% 18% 21% 24% 19% 21% 20% 16% 19%
6 13% 13% 14% 11% 17% 13% 13% 10% 12%
7 13% 14% 12% 11% 13% 13% 16% 12% 14%
8 9% 9% 9% 8% 9% 10% 9% 8% 8%
9 6% 6% 6% 6% 5% 6% 7% 7% 8%
1 8% 9% 8% 4% 6% 7% 11% 11% 10%
Labour's policies were 0 1% 1% 1% 2% 1% 1% 1% 1% 1%
broadly right, but the part
didnot manageto oY |1 1% 2% 1% 3% 2% 1% 1% 2% 1%
communicate them in an 2 20/, 20 29, 3% 20 3% 1% 29 29,
appealing way
3 4% 3% 4% 4% 5% 2% 3% 5% 3%
4 5% 4% 6% 11% 4% 4% 4% 6% 3%
5 15% 13% 18% 13% 18% 18% 16% 11% 7%
6 15% 15% 14% 14% 14% 18% 16% 10% 10%
7 20% 20% 19% 19% 22% 20% 20% 18% 17%
8 15% 15% 15% 11% 16% 12% 15% 17% 18%
9 11% 12% 10% 13% 8% 11% 9% 12% 14%
1 12% 12% 11% 6% 7% 9% 12% 17% 24%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Socio-Economic Group Region
South East Wales &

AB C1 c2 DE (inc London) Midlands North South West Scotland

Labour did not seem to 0 5% 2% 3% 2% 3% 2% 4% 3% 4%
have answers on a range

i i 1 7% 5% 3% 2% 6% 4% 5% 2% 3%

_of important issues,

Qﬁéut?]lg% ggrfg%fatlon 2 8% 7% 4% 6% 6% 5% 6% 8% 8%

y 3 8% 8% 8% 9% 8% 10% 8% 5% 7%

4 9% 9% 7% 10% 8% 9% 9% 7% 10%

5 18% 19% 23% 16% 20% 19% 19% 21% 19%

6 13% 16% 10% 13% 15% 13% 13% 10% 13%

7 13% 13% 15% 13% 13% 13% 14% 14% 14%

8 8% 9% 9% 10% 8% 9% 9% 10% 10%

9 5% 5% 8% 9% 7% 8% 5% 8% 4%

1 6% 7% 11% 11% 7% 8% 9% 12% 8%

klsabO(;Jlr'S,pgltiCLeS{ \tl;qere , 0 1% 1% 1% 0% 1% 0% 1% 2% 2%
roadly right, but the par

didnot manageto Y |1 2% 2% 1% 1% 1% 1% 1% 0% 4%

ggg;ﬁggﬁg;hem inan 2 3% 2% 2% 2% 2% 3% 2% 2% 1%

3 4% 4% 4% 4% 3% 4% 3% 4% 4%

4 4% 5% 5% 7% 6% 5% 4% 7% 4%

5 13% 15% 17% 19% 15% 16% 16% 15% 14%

6 10% 16% 17% 14% 13% 14% 16% 13% 15%

7 21% 22% 19% 15% 19% 18% 21% 21% 19%

8 17% 15% 14% 14% 17% 14% 14% 13% 18%

9 13% 10% 10% 10% 10% 12% 11% 9% 11%

1 14% 10% 12% 12% 12% 14% 11% 14% 8%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Not working
but seeking
Working full Working part Working part tem“p,)cc))rrlgrily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student
hgsglgn%ix grgt osr(leznr]atr?ge 0 3% 2% 5% 5% 3% 3% 3%
of important issues, 1 4% 4% 5% 5% 4% 6% 0%
Qﬁéut?]lg% Immigr 3t'0n 2 6% 8% 10% 7% 3% 7% 7%
3 8% 6% 10% 4% 8% 10% 16%
4 9% 8% 8% 8% 9% 9% 7%
5 20% 19% 21% 18% 18% 17% 28%
6 14% 15% 5% 17% 14% 11% 10%
7 14% 14% 10% 14% 14% 11% 13%
8 10% 8% 8% 6% 8% 9% 6%
9 6% 6% 5% 6% 5% 8% 7%
1 7% 10% 13% 11% 14% 10% 3%
Labour's policies were 0 1% 1% 3% 1% 0% 0% 0%

broadly right, but the party ] N N N N N N N
did not manage to 2% 0% 3% 1% 3% 1% 1%
ggg;ﬁggﬁg;hem inan | 2 2% 1% 5% 2% 1% 2% 4%
3 4% 3% 0% 2% 3% 3% 4%
4 5% 7% 3% 2% 4% 5% 9%
5 16% 19% 26% 15% 15% 7% 17%
6 17% 11% 5% 14% 13% 9% 14%
7 20% 22% 15% 15% 21% 18% 17%
8 14% 15% 21% 23% 15% 17% 6%
9 10% 9% 8% 8% 12% 15% 19%
1 9% 11% 13% 14% 13% 22% 7%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Labour did not seem to 0 3% 3% 0% 6% 2% 8% 4% 3%
have answers on a range
of |mportant islsues, g 1 5°/O 5°/o 7°/o 10/0 4°/o Oo/o 20/0 50/0
mcludlng |mm|grat|on 2 5% 7% 4%, 6% 6% 8% 6% 7%
and the economy
3 8% 8% 12% 2% 10% 8% 6% 8%
4 9% 8% 10% 10% 7% 17% 11% 8%
5 16% 20% 21% 19% 19% 42% 27% 22%
6 13% 13% 13% 17% 14% 17% 11% 13%
7 15% 13% 10% 11% 14% 0% 14% 12%
8 8% 10% 9% 7% 8% 0% 12% 7%
9 8% 6% 6% 7% 6% 0% 2% 6%
1 11% 6% 10% 13% 10% 0% 4% 8%
Labour's policies were 0 1% 1% 0% 2% 1% 0% 0% 1%
broadly right, but the part
didnot manageto oY |1 2% 1% 2% 2% 1% 8% 0% 2%
communicate them in an 2 1% 29 29 4%, 4%, 0% 29, 29,
appealing way
3 4% 4% 4% 3% 3% 17% 4% 3%
4 5% 5% 6% 1% 5% 17% 10% 6%
5 11% 17% 18% 18% 13% 33% 14% 15%
6 11% 17% 13% 15% 13% 8% 14% 12%
7 20% 20% 19% 15% 19% 8% 22% 19%
8 15% 15% 15% 14% 15% 8% 16% 14%
9 14% 10% 6% 11% 12% 0% 12% 11%
1 15% 8% 15% 15% 15% 0% 6% 15%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership
ASLEF | BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS | NUM TSSA | UCATT
Labour did not seem to 0 0% 0% 0% 2% 1% 0% 4% 0% 0% 0% 0% 2%
e auea, 29 [ 4% 8% 0% 2% 4% 4% 3% 10% 4% 7% 9% 5%
including immigration 2 2% 2% 3% 9% 3% 0% 8% 8% 4% 2% 0% 5%
and the economy
3 0% 6% 6% 0% 6% 0% 7% 3% 0% 0% 0% 5%
4 4% 6% 0% 7% 8% 8% 7% 0% 0% 0% 0% 0%
5 13% 9% 0% 7% 9% 8% 14% 13% 0% 12% 6% 14%
6 26% 26% 26% 29% 24% 42% 15% 23% 39% 32% 26% 28%
7 26% 26% 35% 24% 21% 23% 14% 26% 39% 24% 35% 23%
8 9% 6% 19% 11% 10% 12% 10% 10% 9% 12% 18% 9%
9 9% 6% 6% 4% 7% 4% 7% 8% 4% 5% 3% 2%
1 9% 6% 3% 4% 7% 0% 10% 0% 0% 5% 3% 7%
Labour's policies were 0 0% 0% 0% 0% 0% 0% 1% 0% 0% 0% 0% 0%
S s utahe party 74 4% 6% 3% 4% 0% 4% 2% 13% 9% 10% 6% 2%
communicate theminan | 2 0% 2% 0% 4% 1% 0% 2% 3% 0% 2% 0% 2%
appealing way
3 0% 0% 3% 2% 4% 0% 4% 3% 0% 0% 0% 2%
4 2% 2% 0% 2% 4% 4% 4% 0% 0% 5% 0% 0%
5 11% 6% 6% 7% 16% 8% 15% 11% 4% 10% 11% 14%
6 17% 13% 13% 11% 10% 4% 18% 11% 13% 12% 9% 12%
7 40% 38% 39% 36% 28% 58% 17% 37% 57% 34% 49% 35%
8 11% 13% 23% 22% 13% 8% 17% 11% 9% 15% 11% 16%
9 6% 9% 10% 4% 9% 15% 10% 8% 9% 10% 14% 9%
1 9% 11% 3% 7% 15% 0% 9% 5% 0% 2% 0% 7%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Ir_]abour did not seem to 0 3% 3% 1% 0% 1% 3% 3%
ave answers on a range
of important issues, 9 1 4% 2% 3% 0% 2% 5% 4%
including immigration 2 6% 7% 4% 0% 7% 7% 5%
and the economy
3 6% 8% 7% 0% 6% 8% 9%
4 11% 8% 8% 3% 6% 8% 9%
5 20% 16% 11% 0% 17% 21% 17%
6 14% 14% 19% 34% 20% 13% 15%
7 13% 16% 20% 34% 18% 14% 13%
8 10% 8% 9% 14% 8% 9% 9%
9 6% 7% 12% 7% 8% 6% 7%
1 7% 11% 6% 7% 6% 7% 10%
ll;abo(;ir‘S'pglticti)es{ \t/;/]ere . 0 1% 1% 1% 0% 0% 1% 1%
roadly right, but the par
feacy nd pary ' 1% 19 19 0% 29, 1% 19
did not manage to
communicate them in an 2 29, 3% 1% 3% 1% 2% 2%
appealing way
3 3% 3% 3% 0% 3% 4% 3%
4 4% 4% 4% 3% 4% 6% 4%
5 15% 14% 14% 7% 17% 16% 14%
6 17% 13% 12% 10% 17% 14% 16%
7 22% 27% 26% 38% 24% 19% 21%
8 15% 11% 17% 21% 17% 16% 14%
9 11% 11% 9% 7% 12% 10% 12%
1 9% 13% 13% 10% 5% 12% 11%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender

A

[<]

Socio-Economic Group

Total

Male

Female

18-24

25-34

35-44

45-54

55-64

65+

AB

C1

c2

DE

Gordon Brown was not a
good Prime Minister

5.90

6.11

5.69

5.02

5.96

5.94

6.15

5.94

5.55

5.71

5.88

6.02

6.02

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

6.72

6.76

6.69

6.46

6.57

6.47

6.74

6.95

7.66

6.89

6.66

6.64

6.77

Labour did not keep the
promises it made at
previous elections

5.26

5.28

5.25

5.13

5.39

5.29

5.43

5.12

4.76

4.97

5.16

5.51

5.55

Many voters did not fully
appreciate what Labour
had achieved in
government

7.35

7.26

7.43

6.80

6.95

717

7.33

7.87

8.50

7.72

7.28

717

7.21

Many of Labour's policies
were wrong

4.38

4.44

4.32

417

4.53

4.37

4.45

4.35

3.97

4.06

4.29

4.58

4.76

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

6.03

6.14

5.92

5.48

5.85

5.70

6.24

6.50

6.42

5.95

6.00

6.07

6.15

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

5.11

5.30

4.93

4.97

5.37

5.04

4.96

5.06

5.17

5.09

5.10

5.09

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

4.66

4.50

4.81

4.76

5.15

4.69

4.55

4.28

4.21

4.35

4.65

4.82

4.92
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Region

South East
(inc London)

Midlands

North

Wales &
South West

Scotland

Gordon Brown was not a
good Prime Minister

5.99

6.00

5.95

6.25

4.95

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

6.74

6.73

6.74

6.72

6.63

Labour did not keep the
promises it made at
previous elections

5.19

5.42

5.24

5.54

5.02

Many voters did not fully
appreciate what Labour
had achieved in
government

7.30

7.38

7.34

7.52

7.29

Many of Labour's policies
were wrong

4.26

4.51

4.38

4.38

4.42

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

5.88

6.13

6.02

6.22

6.06

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

5.25

5.07

4.98

5.34

5.11

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

4.61

4.75

4.64

4.84

4.52
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Working full
time (30+ hrs
a week)

Working part
time (8-29 hrs
a week)

Working part
time (1-7 hrs
a week)

Not working
but seeking
work,
temporarily
unemployed/s
ick

Not
working/not
seeking work

Retired

Student

Gordon Brown was not a
good Prime Minister

5.90

5.93

5.28

5.55

6.32

6.04

5.51

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

6.56

6.85

6.13

6.98

6.42

7.52

6.45

Labour did not keep the
promises it made at
previous elections

5.32

5.22

5.21

5.06

5.52

5.07

5.17

Many voters did not fully
appreciate what Labour
had achieved in
government

7.14

7.42

7.00

7.63

7.47

8.30

6.94

Many of Labour's policies
were wrong

4.45

4.39

3.64

3.92

4.58

4.30

4.13

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

5.90

5.69

6.25

6.14

6.65

5.39

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

5.20

5.15

4.64

4.44

5.18

5.02

4.84

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

4.65

4.97

4.13

4.49

4.83

4.32

4.94
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Housing Tenure

Party
Membership

Owned

outright

(without
mortgage)

Owned with a
mortgage or
loan

Rented from
Council

Rented from
housing
association

Rented from
someone
else

Rent free

Living with
relatives

Labour Party

Gordon Brown was not a
good Prime Minister

5.96

5.85

6.17

5.71

6.11

4.33

5.51

5.79

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

7.05

6.52

6.42

7.04

6.96

6.50

6.59

6.86

Labour did not keep the
promises it made at
previous elections

5.20

5.23

5.49

5.75

5.17

4.67

5.32

5.12

Many voters did not fully
appreciate what Labour
had achieved in
government

7.71

7.24

6.97

7.27

7.55

6.58

6.85

7.44

Many of Labour's policies
were wrong

4.52

4.31

4.46

4.59

4.14

4.75

4.44

4.38

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

6.25

5.84

6.14

6.43

6.17

5.92

5.78

5.97

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

5.29

4.98

5.20

5.05

5.17

5.25

5.28

5.19

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

4.55

4.48

5.02

5.18

4.97

4.25

5.17

4.69
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF

BECTU

BFAWU

COMMUNITY

cwu

GFTU

GMB

MU

NACODS

NUM

TSSA

UCATT

Gordon Brown was not a
good Prime Minister

6.34

6.45

6.87

6.61

6.29

6.04

5.83

5.82

6.04

5.80

6.48

6.02

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

6.64

6.68

6.68

6.78

7.10

6.73

6.49

6.23

6.39

5.83

6.32

6.71

Labour did not keep the
promises it made at
previous elections

6.28

6.25

6.84

6.29

5.80

6.35

5.27

5.89

6.36

6.10

6.22

5.72

Many voters did not fully
appreciate what Labour
had achieved in
government

6.60

7.04

6.58

6.27

7.00

6.15

6.85

6.31

6.22

6.15

6.38

6.67

Many of Labour's policies
were wrong

6.36

5.66

6.68

6.16

5.15

6.31

4.82

5.36

6.52

5.59

6.09

5.42

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

5.98

6.23

6.52

6.04

6.28

6.35

6.13

5.69

6.00

5.71

6.18

6.26

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

6.09

6.19

6.81

6.16

5.53

6.46

5.19

5.74

6.65

6.17

6.17

5.71

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

5.62

6.13

6.77

5.98

5.26

6.35

4.83

5.54

6.39

6.24

6.00

5.91
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

Voting History at General
Elections

UNISON

UNITE/Amicu
S

UNITE/T&G

UNITY

USDAW

Only ever
voted for
Labour

Voted for a
number of
different
parties

Gordon Brown was not a
good Prime Minister

5.74

5.95

6.50

6.93

6.19

5.79

6.12

Voters who switched from
Labour to other parties
were influenced by the
right-wing media

6.60

6.93

6.81

6.62

6.62

6.78

6.66

Labour did not keep the
promises it made at
previous elections

5.23

5.46

5.40

5.97

5.92

5.13

5.48

Many voters did not fully
appreciate what Labour
had achieved in
government

7.40

7.46

7.35

7.04

6.92

7.42

7.23

Many of Labour's policies
were wrong

4.37

4.51

4.96

6.34

4.94

4.30

4.51

Labour spent too much
time trying to appeal to
middle class swing
voters, and lost the
support of many
traditional, working class
supporters as a result

6.05

6.14

6.19

6.55

6.18

6.02

6.04

Labour seemed to have
run out of steam, and
clearly needed a spell out
of government

5.13

5.27

5.14

6.62

5.56

4.95

5.40

Labour were particularly
responsible for the
scandal over MPs
expenses as they were in
government at the time

4.70

4.45

5.23

6.24

5.65

4.60

4.76
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Gender

Age

Socio-Economic Group

Total

Male

Female

18-24

25-34

35-44

45-54

55-64

65+

AB

C1

c2

DE

Labour did not seem to
have answers on a range
of important issues,
including immigration
and the economy

5.57

5.57

5.58

5.09 5.48

5.59

5.91

5.37

5.71

5.13

5.45

5.94

5.96

Labour’s policies were
broadly right, but the party
did not manage to
communicate them in an
appealing way

6.71

6.78

6.63

6.19 6.40

6.61

6.80

6.97

7.54

6.88

6.65

6.71

6.56

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Region

South East
(inc London)

Midlands

North

Wales &
South West

Scotland

Labour did not seem to
have answers on a range
of important issues,
including immigration
and the economy

5.49

5.68

5.53

5.95

5.45

Labour’s policies were
broadly right, but the party
did not manage to
communicate them in an
appealing way

6.71

6.80

6.72

6.69

6.51
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Labour did not seem to
have answers on a range
of important issues, 5.55 5.71 5.28 5.61 5.97 5.52 5.22
including immigration
and the economy
Labour’s policies were
broadly right, but the party
did not manage to 6.55 6.69 6.51 6.93 6.91 7.45 6.42
communicate them in an
appealing way

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think

each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Party
Housing Tenure Membership

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives Labour Party

Labour did not seem to
have answers on a range
of important issues, 5.81 5.42 5.62 5.85 5.70 4.17 5.31 5.42
including immigration
and the economy
Labour’s policies were
broadly right, but the party
did not manage to 7.01 6.55 6.69 6.75 6.85 4.67 6.60 6.77
communicate them in an
appealing way
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Union Membership

ASLEF

BECTU

BFAWU

COMMUNITY

cwu

GFTU

GMB

MU

NACODS

NUM

TSSA

UCATT

Labour did not seem to
have answers on a range
of important issues,
including immigration
and the economy

6.51

5.94

6.74 5.98

6.10

6.15

5.72

5.67

6.30

6.24

6.41

5.93

Labour’s policies were
broadly right, but the party
did not manage to
communicate them in an
appealing way

6.79

6.92

6.94 6.62

6.98

6.85

6.56

6.08

6.52

6.24

6.74

6.81

Here are some things that various people have suggested as reasons why Labour did not win the general election in May 2010. On a scale of 1-10, please say important you think
each of these is in explaining the election result - where 0 means it was not important at all, and 10 means it was extremely important

Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Labour did not seem to
have answers on a range
of important issues, 5.56 5.84 6.11 7.03 5.95 5.47 5.74
including immigration
and the economy
Labour’s policies were
broadly right, but the party
did not manage to 6.69 6.80 6.90 7.14 6.66 6.67 6.78
communicate them in an
appealing way
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Gender Age Socio-Economic Group

Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 c2 DE
Many working class 55% 55% 55% 59% 53% 54% 58% 54% 55% 48% 53% 58% 66%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 45% 45% 45% 41% 47% 46% 42% 46% 45% 52% 47% 42% 34%
voters decided to vote for
other parties this time

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Region

South East Wales &

(inc London) Midlands North South West Scotland
Many working class 52% 60% 56% 58% 50%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 48% 40% 44% 42% 50%
voters decided to vote for
other parties this time

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

Many working class 54% 58% 59% 55% 56% 56% 61%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 46% 42% 41% 45% 44% 44% 39%
voters decided to vote for
other parties this time
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Party
Housing Tenure Membership

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives Labour Party

Many working class 57% 54% 62% 60% 53% 25% 51% 54%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 43% 46% 38% 40% 47% 75% 49% 46%
voters decided to vote for
other parties this time

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Union Membership

ASLEF BECTU BFAWU | COMMUNITY CWU GFTU GMB MU NACODS NUM TSSA UCATT
Many working class 49% 47% 42% 53% 53% 42% 61% 36% 35% 51% 46% 51%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 51% 53% 58% 47% 47% 58% 39% 64% 65% 49% 54% 49%
voters decided to vote for
other parties this time

Which one of the following do you think was the more important factor when it comes to explaining the election result?

Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
Many working class 54% 53% 55% 48% 52% 54% 56%
voters who are Labour's
traditional core
supporters decided not to
vote Labour this time
Many middle-class swing 46% 47% 45% 52% 48% 46% 44%
voters decided to vote for
other parties this time
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Whose values do you think are closer to those of the British public as a whole?

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 c2 DE
Tony Blair 56% 61% 51% 53% 61% 61% 54% 51% 45% 49% 57% 60% 58%
Gordon Brown 44% 39% 49% 47% 39% 39% 46% 49% 55% 51% 43% 40% 42%
Whose values do you think are closer to those of the British public as a whole?
Region
South East Wales &
(inc London) Midlands North South West Scotland
Tony Blair 58% 55% 56% 61% 47%
Gordon Brown 42% 45% 44% 39% 53%
Whose values do you think are closer to those of the British public as a whole?
Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Tony Blair 60% 50% 59% 50% 56% 44% 62%
Gordon Brown 40% 50% 41% 50% 44% 56% 38%
Whose values do you think are closer to those of the British public as a whole?
Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Tony Blair 48% 58% 61% 58% 57% 58% 62% 56%
Gordon Brown 52% 42% 39% 42% 43% 42% 38% 44%




Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Whose values do you think are closer to those of the British public as a whole?

Union Membership

ASLEF BECTU BFAWU | COMMUNITY CWu GFTU GMB MU NACODS NUM TSSA UCATT [ UNISON
Tony Blair 55% 55% 55% 62% 64% 50% 55% 54% 65% 59% 49% 56% 55%
Gordon Brown 45% 45% 45% 38% 36% 50% 45% 46% 35% 41% 51% 44% 45%
Whose values do you think are closer to those of the British public as a whole?
Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
S UNITE/T&G UNITY USDAW Labour parties
Tony Blair 51% 66% 62% 56% 56% 55%
Gordon Brown 49% 34% 38% 44% 44% 45%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -

what mark would you give?

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 Cc2 DE
0 0% 0% 0% 0% 0% 0% 0% 0% 0% 0% 0% 0% 0%
1 0% 0% 0% 1% 0% 0% 0% 0% 0% 0% 0% 0% 0%
2 1% 1% 2% 1% 1% 1% 2% 1% 1% 3% 1% 1% 1%
3 2% 3% 2% 1% 3% 3% 3% 1% 1% 1% 3% 3% 2%
4 3% 3% 4% 4% 4% 2% 5% 2% 1% 2% 3% 3% 6%
5 10% 8% 12% 16% 10% 10% 9% 10% 3% 9% 9% 10% 10%
6 17% 16% 18% 18% 20% 17% 16% 14% 12% 15% 18% 19% 14%
7 31% 31% 31% 30% 31% 34% 31% 29% 26% 34% 31% 29% 31%
8 26% 28% 23% 16% 20% 26% 25% 32% 39% 25% 26% 25% 27%
9 6% 7% 6% 11% 6% 4% 5% 8% 10% 7% 6% 7% 5%
10 3% 4% 3% 4% 3% 3% 3% 3% 6% 4% 2% 4% 4%

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -

what mark would you give?

Region

South East Wales &

(inc London) Midlands North South West Scotland
0 0% 0% 0% 0% 0%
1 0% 1% 0% 0% 0%
2 1% 1% 1% 3% 1%
3 3% 2% 2% 2% 4%
4 5% 3% 3% 3% 2%
5 10% 10% 11% 9% 8%
6 14% 20% 17% 17% 18%
7 33% 30% 30% 30% 31%
8 25% 24% 26% 27% 29%
9 5% 8% 7% 6% 6%
10 3% 4% 3% 2% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -

what mark would you give?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student
0 0% 1% 0% 0% 0% 0% 0%
1 0% 0% 3% 0% 1% 0% 0%
2 1% 1% 5% 2% 0% 1% 0%
3 3% 2% 3% 0% 1% 1% 3%
4 4% 5% 5% 2% 1% 1% 1%
5 9% 12% 8% 6% 16% 7% 17%
6 18% 18% 8% 15% 17% 13% 12%
7 33% 30% 28% 33% 19% 25% 38%
8 23% 25% 28% 26% 30% 38% 14%
9 5% 5% 8% 11% 6% 10% 9%
1 3% 1% 5% 4% 8% 4% 6%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -

what mark would you give?

Party
Housing Tenure Membership

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives Labour Party
0 0% 0% 0% 0% 0% 0% 0% 0%
1 0% 0% 1% 0% 0% 0% 0% 0%
2 1% 1% 1% 2% 0% 0% 3% 1%
3 2% 2% 4% 3% 3% 8% 1% 3%
4 3% 4% 7% 2% 2% 0% 1% 3%
5 9% 9% 12% 10% 11% 17% 14% 9%
6 16% 17% 14% 15% 17% 8% 24% 15%
7 28% 34% 26% 29% 27% 17% 37% 28%
8 29% 25% 28% 27% 25% 42% 13% 26%
9 8% 5% 6% 8% 8% 8% 3% 9%
10 4% 2% 2% 4% 7% 0% 4% 4%
If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -
what mark would you give?
Union Membership
UNITE/Amicu
ASLEF BECTU BFAWU | COMMUNITY CWuU GFTU GMB MU NACODS NUM TSSA UCATT UNISON S

0 0% 0% 0% 0% 0% 0% 0% 3% 4% 2% 0% 0% 0% 0%
1 4% 2% 0% 2% 0% 4% 0% 5% 4% 7% 3% 2% 0% 1%
2 6% 2% 6% 7% 3% 4% 2% 5% 4% 7% 3% 2% 1% 1%
3 4% 4% 10% 4% 2% 0% 1% 3% 0% 2% 3% 2% 2% 2%
4 4% 8% 3% 7% 5% 8% 4% 5% 4% 2% 3% 2% 3% 2%
5 23% 15% 23% 20% 14% 31% 12% 26% 30% 20% 26% 23% 11% 10%
6 17% 17% 13% 16% 17% 19% 18% 21% 26% 17% 20% 19% 18% 18%
7 17% 28% 23% 20% 25% 19% 30% 18% 13% 17% 23% 12% 34% 28%
8 15% 13% 13% 13% 23% 12% 22% 5% 4% 12% 11% 33% 24% 30%
9 6% 6% 6% 9% 7% 0% 6% 8% 4% 2% 6% 2% 4% 5%
10 2% 6% 3% 2% 4% 4% 3% 3% 4% 10% 3% 2% 2% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means ‘extremely poor’ and 10 means ‘excellent’ -

what mark would you give?

Voting History at General

Union Membershi Elections
Voted for a
Only ever number of
voted for different
UNITE/T&G UNITY USDAW Labour parties
0 1% 0% 0% 0% 0%
1 0% 3% 1% 0% 0%
2 1% 0% 0% 1% 1%
3 1% 0% 2% 1% 4%
4 2% 3% 3% 3% 4%
5 11% 28% 14% 10% 8%
6 18% 21% 22% 17% 16%
7 33% 17% 33% 30% 33%
8 23% 21% 18% 26% 26%
9 5% 3% 5% 8% 4%
1 4% 3% 3% 4% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -
what mark would you give?

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 C2 DE
6.83 6.92 6.74 6.75 6.65 6.82 6.65 7.09 7.46 6.90 6.78 6.85 6.80

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -
what mark would you give?

Region
South East Wales &
(inc London) Midlands North South West Scotland
6.74 6.90 6.85 6.77 6.93

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -
what mark would you give?

Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
6.75 6.62 6.69 7.12 7.01 7.36 6.87

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -
what mark would you give?

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
6.97 6.76 6.61 6.94 7.04 6.83 6.57 6.95

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -
what mark would you give?

Union Membership

UNITE/Amicu

ASLEF BECTU BFAWU | COMMUNITY CWu GFTU GMB MU NACODS NUM TSSA UCATT UNISON s

5.83 6.36 5.97 5.98 6.69 5.77 6.67 5.56 5.48 5.76 6.09 6.37 6.76 6.80
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

If you had to give the Labour government a mark out of ten for its overall performance in office between 1997 and 2010 - where 0 means 'extremely poor' and 10 means 'excellent’ -

what mark would you give?

Voting History at General
Union Membershi Elections
Voted for a
Only ever number of
voted for different
UNITE/T&G UNITY USDAW Labour parties
6.79 6.31 6.65 6.93 6.69
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 Cc2 DE
Strongly agree 20% 24% 17% 21% 23% 23% 20% 16% 12% 18% 19% 22% 24%
Somewhat agree 37% 37% 37% 36% 43% 38% 36% 32% 28% 32% 37% 40% 37%
Somewhat disagree 26% 23% 28% 27% 22% 26% 28% 29% 23% 28% 26% 24% 25%
Strongly disagree 17% 17% 18% 16% 13% 13% 16% 22% 37% 22% 18% 14% 14%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Region
South East Wales &
(inc London) Midlands North South West Scotland
Strongly agree 21% 17% 22% 23% 13%
Somewhat agree 36% 39% 37% 41% 27%
Somewhat disagree 24% 29% 24% 24% 33%
Strongly disagree 19% 15% 16% 12% 27%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Strongly agree 21% 17% 23% 23% 31% 13% 23%
Somewhat agree 39% 37% 28% 35% 39% 29% 36%
Somewhat disagree 25% 27% 33% 27% 17% 28% 30%
Strongly disagree 15% 19% 15% 15% 13% 30% 10%

Page 53



Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Party
Housing Tenure Membership

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives Labour Party

Strongly agree 20% 17% 28% 25% 27% 17% 18% 23%
Somewhat agree 31% 40% 38% 35% 36% 42% 38% 36%
Somewhat disagree 26% 28% 20% 27% 23% 42% 22% 21%
Strongly disagree 24% 15% 14% 12% 14% 0% 23% 19%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Union Membership
ASLEF BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS NUM TSSA UCATT | UNISON
Strongly agree 45% 34% 42% 44% 30% 46% 23% 33% 48% 34% 37% 35% 17%
Somewhat agree 36% 42% 39% 42% 41% 42% 38% 46% 39% 39% 43% 44% 36%
Somewhat disagree 13% 21% 10% 9% 13% 8% 26% 10% 9% 15% 11% 9% 29%
Strongly disagree 6% 4% 10% 4% 17% 4% 13% 10% 4% 12% 9% 12% 18%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the following statement: Labour would have had a much better chance of winning if they had
replaced Gordon Brown with a new leader a few months before the election

Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
S UNITE/T&G UNITY USDAW Labour parties
Strongly agree 20% 32% 41% 19% 21% 19%
Somewhat agree 36% 35% 41% 41% 36% 36%
Somewhat disagree 25% 23% 10% 27% 25% 28%
Strongly disagree 19% 10% 7% 13% 18% 17%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Gender Age Socio-Economic Group
Total Male | Female | 1824 | 2534 | 3544 | 4554 | 5564 65+ AB ci c2 DE
res, Labour deserved to 23% 30% 17% 18% 29% 24% 26% 19% 12% 22% 24% 23% 22%
No, Labour did not o 5 o o o o o o o o o o o
Ao o lose 77% 70% 83% 82% 71% 76% 74% 81% 88% 78% 76% 77% 78%

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Region
South East Wales &
(inc London) Midlands North South West Scotland
I\c(gse, Labour deserved to 8% o 20% 04, 929
o, Labour did not 72% 78% 80% 76% 78%

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Yes, Labour deserved to 27% 23% 18% 15% 14% 13% 14%
o, Labour did not 73% 77% 82% 85% 86% 87% 86%

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
res, Labour deserved to 25% 22% 25% 22% 25% 17% 22% 24%
o, Labour did not 75% 78% 75% 78% 75% 83% 78% 76%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Union Membership
ASLEF | BECTU | BFAWU | COMMUNITY | CWU | GFTU GMB MU__ | NACODS | NUM TSSA | UCATT
res, Labour deserved to 60% 47% 68% 67% 38% 77% 30% 51% 70% 61% 71% 51%
No, Labour did not o o o o o o o o o o o o
detena o lose 40% 53% 32% 33% 62% 23% 70% 49% 30% 39% 29% 49%

All things considered, taking into account their record in office and what they were proposing in their manifesto, do you think Labour deserved to lose the 2010 election, or not?

Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UNISON S UNITE/T&G UNITY USDAW Labour parties
ves, Labour deserved to 24% 25% 28% 66% 35% 21% 27%
o, Labour did not 76% 75% 72% 34% 65% 79% 73%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+

The deficit is the most Strongly agree 21% 20% 22% 25% 20% 24% 19% 20% 20%
serious problem facing
Britain’s economy and Somewhat agree 47% 42% 51% 48% 54% 48% 48% 38% 36%
needs to be dealt with Somewhat disagree
Urgently, beginning this ! g 25% 28% 22% 21% 19% 22% 25% 33% 32%
year Strongly disagree 8% 10% 5% 6% 6% 6% 9% 9% 12%
However unpleasant they Strongly agree 8% 8% 8% 12% 11% 9% 7% 6% 4%
may be, the public S h
spending cuts being omewhat agree 36% 34% 38% 41% 44% 37% 33% 29% 23%
S[}C\’/%?gemdeﬁ{;:‘g coaliion | Somewhat disagree 37% 35% 38% 34% 34% 38% 36% 38% 41%
unavoidable Strongly disagree 19% 23% 16% 13% 1% 16% 24% 26% 32%
Morg ooll‘}he rrg%r:exg it Strongly agree 17% 19% 16% 13% 16% 17% 17% 20% 23%
neeaeq 1o cu e daerici
should be raised from Somewhat agree 46% 47% 46% 41% 41% 47% 49% 49% 52%
increasing taxes, rather Somewhat disagree 28% 26% 31% 38% 34% 27% 27% 26% 18%
than cutting spending -

Strongly disagree 8% 9% 7% 8% 9% 9% 8% 6% 6%
The coaliion government | Strongly agree 43% 47% 39% 30% 33% 40% 49% 54% 54%
is cutting spending
because it is instinctively Somewhat agree 37% 34% 40% 43% 45% 41% 33% 29% 29%
hostile to public services -
and the public sector - it Somewhat disagree 16% 14% 17% 23% 18% 16% 15% 1% 12%
is just using the deficit as S v di
an excuse trongly disagree 4% 5% 3% 4% 4% 4% 4% 5% 6%
The last Labour Strongly agree 9% 10% 9% 12%, 14% 9% 7% 7% 5%
government must accept
a large part of the blame Somewhat agree 39% 36% 41% 47% 45% 44% 38% 26% 24%
for the economic -
problems that Britain Somewhat disagree 36% 37% 36% 34% 31% 37% 38% 35% 50%
faced at the end of its -
time in government Strongly disagree 16% 18% 14% 7% 10% 1% 17% 31% 21%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing
the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Socio-Economic Group Region
South East Wales &
AB C1 c2 DE (inc London) Midlands North South West Scotland
The deficit is the most Strongly agree 20% 21% 23% 19% 20% 18% 21% 27% 25%
serious problem facing Somewhat aaree o S " S S . " S o
Britain’s economy and g 44% 48% 47% 46% 45% 49% 49% 44% 42%
y 1 .
gfgg,ft,t; ggg‘?ﬁﬁ:}]gms Somewhat disagree 28% 24% 239% 26% 27% 27% 24% 21% 209%
year Strongly disagree 8% 7% 7% 8% 8% 6% 7% 8% 11%
rI:I1<;\W<Ieoveert #gplﬁgﬁgnt they | Strongly agree 9% 8% 7% 9% 10% 6% 8% 8% 10%
speyndi,{g Cutps being Somewhat agree 32% 38% 38% 32% 37% 33% 35% 39% 36%
proposed by the coaliion | Somewhat disagree 35% 36% 38% 41% 35% 39% 37% 35% 35%
government are
unavoidable Strongly disagree 24% 19% 17% 18% 18% 22% 19% 18% 20%
Morg ocﬂhe rrg?ﬂexg it Strongly agree 27% 18% 10% 13% 20% 16% 17% 14% 20%
neeaea 1o cu e delicl
should be raised from Somewhat agree 44% 44% 51% 47% 47% 49% 46% 47% 42%
'tﬂg;egﬁltgg ta;eesﬁéiar}hef Somewhat disagree 24% 30% 30% 28% 25% 28% 30% 31% 28%
gsp g Strongly disagree 6% 7% 9% 12% 7% 7% 8% 8% 11%
;hguﬁ?%“g; ggi‘r/g“mem Strongly agree 47% 43% 41% 39% 44% 45% 43% 42% 40%
Eggtaltés% iltO isbilngtsigcr:ti,\ézlg Somewhat agree 34% 37% 39% 40% 36% 37% 38% 34% 43%
| upli \| -
and the public seclor - it Somewhat disagree 14% 16% 16% 15% 16% 14% 15% 21% 13%
is just using the deficit as -
an excuse Strongly disagree 5% 4% 3% 5% 4% 4% 4% 3% 5%
ESSJ?nSrtnléﬁ?%qut accept Strongly agree 9% 8% 9% 1% 12% 8% 9% 9% 6%
? Iatﬁle part of the blame Somewhat agree 35% 40% 39% 41% 39% 35% 40% 35% 41%
or the economic -
Prob(ljerr;st Ahat Eérit?iq Somewhat disagree 35% 36% 38% 36% 35% 41% 35% 40% 35%
aced a e enda ot Its R
time in government Strongly disagree 21% 15% 14% 12% 15% 16% 16% 16% 18%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

The deficit is the most Strongly agree 21% 23% 26% 19% 21% 17% 23%
Serious proplem facing Somewhat agree 47% 53% 44 46% 53% 39% 42%
Britain’s economy and o o o o o ° o
E?ggrfﬂtyo gg gci'ﬁﬁi'}]é‘”twi . Somewhat disagree 25% 20% 18% 23% 18% 33% 28%
year Strongly disagree 7% 4% 13% 12% 8% 11% 7%
HOW<|eDvert #npleglsant they | Strongly agree 9% 9% 13% 7% 12% 4% 6%
mal e, the punlic
speynding Cutr; being 3 Somewhat agree 37% 41% 23% 40% 31% 27% 40%
Prmmon aje odiion | Somewhat disagree 36% 35% 36% 37% 32% 42% 40%
unavoidable Strongly disagree 19% 15% 28% 15% 25% 28% 13%
Morg ocﬂhe rrg?ﬂexg it Strongly agree 17% 16% 13% 22% 18% 21% 10%
neeaeda 1o cu e aelficl
.Shou|d be raised from SomeWhat agree 44%, 51% 50% 43% 45% 53% 45%
'tﬂg;egﬁltft}% ta;eesﬁéﬁ}hef Somewhat disagree 30% 27% 26% 28% 29% 19% 38%

gsp g Strongly disagree 9% 6% 11% 7% 8% 6% 7%
;I;hgu?tci)%itisc‘))r; r?gi\r/'%mmem Strongly agree 43% 38% 41% 45% 47% 55% 26%
because it is instinctively Somewhat agree 37% 41% 38% 40% 34% 28% 46%
hostile to public services -
and the public sector - it Somewhat disagree 16% 18% 15% 10% 16% 1% 22%
is just using the deficit as -
an excuse Strongly disagree 4% 3% 5% 5% 3% 6% 6%
ESSJ?nSrtnléﬁ?%qut accept Strongly agree 10% 7% 22% 12% 10% 6% 6%
a large part of the blame Somewhat agree 41% 44% 38% 37% 29% 23% 46%
for the economic ;
problems that Britain Somewhat disagree 34% 36% 24% 36% 45% 45% 41%
faced at the end of its -
time in government Strongly disagree 15% 13% 16% 15% 16% 26% 7%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing
the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
The deficit is the most Strongly agree 19% 21% 21% 23% 24% 25% 23% 21%
serious problem facing
Britain’s economy and Somewhat agree 46% 47% 51% 45% 43% 58% 52% 44%
needs to be dealt with Somewhat disagree
urgently, beginning this . g 26% 25% 21% 23% 25% 17% 20% 26%
year Strong|y d'Sagree 8% 7% 7% 8% 8% 0% 5% 9%
However unpleasant they | Strongly agree 8% 7% 13% 12% 9% 0% 11% 9%
may be, the public S hat
spending cuts being omewnhat agree 33% 37% 36% 34% 35% 33% 41% 35%
S[}C\’/%?gemdeﬁ{;:‘g coalition Somewhat disagree 36% 38% 31% 32% 40% 42% 35% 34%
unavoidable Strongly disagree 23% 18% 20% 22% 16% 25% 13% 21%
Morg ooll‘}he rrg%r:exg it Strongly agree 20% 16% 12% 14% 24% 17% 12% 20%
needed to cut the defici
should be raised from Somewhat agree 52% 44% 50% 45% 42% 58% 45% 47%
increasing taxes, rather Somewhat disagree 22% 31% 30% 29% 26% 17% 37% 25%
than cutting spending -
Strongly disagree 6% 9% 7% 13% 8% 8% 6% 8%
The coalition government | Strongly agree 49% 40% 38% 44% 48% 33% 38% 43%
is cutting spending
because it is instinctively Somewhat agree 32% 39% 44% 39% 33% 58% 39% 37%
hostile to public services -
and the public sector - it Somewhat disagree 14% 17% 12% 9% 16% 8% 17% 15%
is just using the deficit as -
an excuse Strongly dlsagree 4% 3% 6% 8% 4% 0% 5% 5%
The last Labour Strongly agree 10% 7% 15% 7% 14% 17% 4% 10%
government must accept
a large part of the blame Somewhat agree 31% 1% 42% 41% 40% 33% 45% 37%
for the economic -
problems that Britain Somewhat disagree 37% 37% 31% 35% 33% 25% % 37%
faced at the end of its S -
time in government trongly disagree 22% 15% 12% 17% 13% 25% 10% 16%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS NUM

The deficit is the most Strongly agree 29% 33% 31% 30% 25% 32% 16% 24% 43% 25%
serious problem facing
Britain’s economy and Somewhat agree 56% 45% 55% 49% 45% 56% 48% 54% 52% 53%
needs to be dealt with Somewhat disagree
Urgently. beginning this = v]/ = isag 7% 16% 10% 19% 24% 8% 26% 16% 0% 15%
year rongly disagree 9% 6% 3% 2% 6% 4% 10% 5% 5% 8%
However unpleasant they | Strongly agree 21% 28% 23% 20% 14% 23% 12% 18% 26% 24%
may be, the public S h
spending cuts being omewhat agree 53% 49% 71% 60% 46% 65% 38% 62% 74% 39%
Sg‘\’/%?ﬁemdeﬁ{;‘g coalition | Somewhat disagree 21% 17% 6% 16% 23% 12% 29% 10% 0% 24%
unavoidable Strongly disagree 4% 6% 0% 4% 17% 0% 21% 10% 0% 12%
Morg ooll‘}he rrg%r:exg it Strongly agree 17% 25% 19% 24% 17% 23% 15% 33% 35% 24%
neeaeda 1o cu e aelici
should be raised from Somewhat agree 57% 57% 58% 51% 54% 65% 51% 54% 61% 51%
increasing taxes, rather Somewhat disagree 21% 15% 16% 20% 20% 8% 25% 10% 0% 17%
than cutting spending Strongly disagree 4% 4% 6% 4% 10% 4% 9% 3% 4% 7%

o o (o] (o] (o] o (o] (o] o o
The coalition government | Strongly agree 43% 49% 35% 40% 51% 38% 36% 33% 43% 46%
is cutting spending
because it is instinctively Somewhat agree 40% 36% 48% 40% 35% 46% 39% 46% 48% 37%
hostile to public services -
and the public sector - it Somewhat disagree 13% 11% 10% 16% 11% 12% 18% 8% 4% 7%
is just using the deficit as S v di
an excuse trongly disagree 4% 4% 6% 4% 3% 4% 6% 13% 4% 10%
The last Labour Strongly agree o o o o o o o o o o
govemment must accept 28% 32% 32% 31% 17% 46% 13% 33% 48% 27%
a large part of the blame Somewhat agree 45% 45% 45% 40% 43% 42% 38% 44% 43% 44%
for the economic -
problems that Britain Somewhat disagree 21% 17% 23% 20% 26% 12% 34% 18% 9% 20%
faced at the end of its .
time in government Strongly disagree 6% 6% 0% 9% 15% 0% 15% 5% 0% 10%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

of the Labour Party AND / OR were members of an affiliated Trade Union

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
TSSA UCATT UNISON S UNITE/T&G UNITY USDAW Labour parties

The deficit is the most Strongly agree 35% 21% 21% 21% 28% 37% 30% 21% 22%
serious problem facing
Britain’s economy and Somewhat agree 50% 45% 50% 46% 45% 59% 47% 46% 48%
needs to be dealt with Somewhat disagree
Urgently, beginning this = vi/ = isag 12% 21% 23% 24% 18% 0% 18% 26% 22%
year rongly disagree 3% 12% 6% 9% 10% 4% 6% 8% 8%
However unpleasant they | Strongly agree 26% 14% 7% 8% 16% 28% 16% 8% 9%
may be, the public S h
spending cuts being omewhat agree 60% 47% 36% 38% 36% 55% 48% 35% 37%
S[}C\’/%?gemdeﬁ{;:‘g coalition | Somewhat disagree 6% 23% 39% 31% 33% 14% 28% 36% 36%
unavoidable Strongly disagree 9% 16% 19% 22% 14% 3% 8% 20% 18%
Morg ooll‘}he rrg%r:exg it Strongly agree 29% 19% 18% 16% 16% 28% 12% 17% 18%
neeaeda 1o cu e aelici
should be raised from Somewhat agree 54% 47% 48% 50% 49% 62% 50% 47% 46%
increasing taxes, rather Somewhat disagree 14% 23% 29% 26% 26% 3% 28% 28% 28%
than cutting spending -

Strongly disagree 3% 12% 6% 8% 9% 7% 10% 8% 7%
The coalition government Strongly agree 51% 44, 47% 42%, 49% 48% 27% 45% 41%
is cutting spending
because it is instinctively Somewhat agree 40% 37% 37% 39% 35% 41% 50% 37% 38%
hostile to public services -
and the public sector - it | Somewhat disagree 6% 9% 12% 15% 11% 7% 19% 14% 18%
is just using the deficit as Strongly disagree 39, 99, 29, o o 5 29, 29, 29,
an excuse () () (<) (<) (<) (<) () % %
The last Labour Strongly agree 29% 26% 9% 12% 19% 34% 21% 8% 1%
government must accept
a large part of the blame Somewhat agree 46% 35% 41% 35% 39% 48% 44% 37% 40%
for the economic -
problems that Britain Somewhat disagree 26% 28% 35% 33% 30% 17% 28% 38% 34%
faced at the end of its .
time in government Strongly disagree 0% 12% 15% 19% 12% 0% 6% 17% 15%




Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
el for e Strongly agree 60% 62% 58% 44% 47% 54% 69% 72% 76%
gg{rg?; fﬁgag'r%?n :& itis Somewhat agree 28% 25% 31% 39% 37% 31% 24% 18% 15%
le should have t i

boar the brunt of - Somewhat disagree 9% 9% 9% 16% 12% 12% 6% 6% 3%
measures to reduce the ;
deficit Strongly disagree 3% 4% 2% 1% 4% 3% 2% 4% 6%
'ggﬁgggl‘;vignﬂ?gebgggﬁg%y Strongly agree 14% 16% 13% 14% 13% 13% 15% 17% 15%
gntri]l &S‘STSZ up wi,w1 ittr?e Somewhat agree 52% 49% 54% 55% 55% 53% 53% 46% 46%

W Wi X
deficit - it can’t justd. Somewhat disagree 26% 26% 27% 29% 26% 27% 25% 27% 28%
oppose every spending .
cut Strongly disagree 8% 9% 6% 3% 6% 7% 8% 10% 1%
People on higher Strongly agree 45% 47% 42% 30% 38% 39% 49% 52% 66%
incomes should have to S h
pay sign!ficanﬂy more tax omewhat agree 39% 36% 41% 47% 39% 40% 39% 36% 28%
L%E”éé"!?é?ﬂﬁ 5 public Somewhat disagree 13% 12% 13% 16% 19% 15% 9% 9% 4%
sector Strongly disagree 4% 5% 3% 7% 4% 5% 3% 3% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing
the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Socio-Economic Group Region
South East Wales &

AB C1 c2 DE (inc London) Midlands North South West Scotland
?ei%ﬁirgiareef';r?ﬁéy Strongly agree 57% 60% 62% 59% 56% 64% 60% 64% 59%
ot it that orcnary | Semewhat agree 30% 28% 27% 27% 31% 24% 29% 23% 28%

le should have t i

P e bount of C 0 Somewhat disagree 10% 9% 9% 1% 10% 9% 9% 1% 8%
measures to reduce the ;
deficit Strongly disagree 4% 3% 3% 3% 3% 3% 3% 2% 5%
:gﬁggglyign”?gebgégﬁg%y Strongly agree 16% 13% 14% 14% 16% 15% 13% 16% 11%
until itICOTe(Sj U|oI wi,ttfp1 Ittﬁ Somewhat agree 50% 53% 53% 49% 50% 51% 53% 48% 55%
own plan 1o aeal wi e
deficﬁ - it can’t just Somewhat disagree 26% 26% 27% 28% 27% 27% 26% 28% 25%
oppose every spending .
cut Strongly disagree 8% 8% 7% 9% 7% 8% 7% 8% 9%
Fr’gﬁiz ;)r;hh;grdea ave o Strongly agree 45% 46% 44% 43% 46% 46% 43% 49% 40%
| u Vv
pay :gi.gni.ficanﬂy more tax Somewhat agree 40% 37% 39% 39% 40% 37% 40% 34% 39%
to minimise the cuts Somewhat disagree 12% 13% 13% 14% 1% 14% 13% 13% 14%
necessary in the public -
sector Strongly disagree 4% 4% 4% 5% 4% 3% 4% 5% 7%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student
Eé%‘;ﬂ:ﬁ'reef';r?ﬁéy Strongly agree 59% 58% 64% 63% 55% 73% 38%
current situation, so it is Somewhat agree
not fair that ordinary 9 29% 34% 23% 24% 24% 16% 43%

eople should h t i

P e bount of ¢ 0 Somewhat disagree 9% 8% 13% 1% 16% 6% 17%
measures to reduce the ;
deficit Strongly disagree 3% 1% 0% 2% 5% 6% 1%
Labour will not be taken Strongly agree 15% 16% 5% 13% 12%, 15% 7%
seriously on the economy
until it comes up with its Somewhat agree 51% 57% 38% 55% 55% 48% 50%
own plan to deal with the -
deficit - it can’t just Somewhat disagree 26% 22% 43% 25% 25% 28% 37%
oppose every spending .
cut Strongly disagree 8% 5% 14% 7% 9% 9% 6%
People on higher Strongly agree 42% 42% 49% 51% 50% 60% 30%
incomes should have to S h
pay significanﬂy more tax omewhat agree 40% 42% 26% 34% 34% 32% 46%
to minimise the cuts Somewhat disagree
necessary in the public . g 14% 13% 21% 12% 11% 5% 17%
sector Strongly disagree 5% 2% 5% 2% 5% 3% 6%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing
the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Party
Housing Tenure Membership

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives Labour Party
Bankers are largely Strongly agree
responsible for the 65% 59% 60% 50% 62% 50% 52% 55%
St a that ordnary | Semewhat agree 25% 28% 27% 33% 27% 50% 35% 31%
le should h i

peopie shoud have to Somewhat disagree 6% 11% 10% 12% 9% 0% 12% 11%
measures to reduce the ;
defioit Strongly disagree 4% 3% 3% 6% 2% 0% 1% 3%
Labour will not be taken Strongly agree 17% 13% 10% 18% 16% 8% 11% 14%,
seriously on the economy
until it comes up with its Somewhat agree 49% 52% 58% 45% 54% 67% 56% 51%
own plan to deal with the -
deficit - it can’t just Somewhat disagree 25% 27% 27% 28% 23% 25% 29% 26%
oppose every spending -
cut Strongly disagree 9% 8% 6% 9% 6% 0% 4% 9%
People on higher Strongly agree 49% 41% 43% 51% 47% 42% 40% 46%
incomes should have to
pay significantly more tax Somewhat agree 38% 40% 35% 29% 38% 42% 41% 38%
to minimise the cuts Somewhat disagree
necessary in the public . g 9% 15% 15% 9% 13% 8% 16% 12%
sector Strongly disagree 3% 4% 7% 10% 1% 8% 2% 4%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | Cwu GFTU GMB MU NACODS NUM

?easgﬁrgiﬁffg?ﬁéy Strongly agree 33% 42% 26% 33% 58% 19% 56% 38% 229, 39%

outrent sitvation, :r‘; itis Somewhat agree 50% 49% 61% 56% 32% 62% 33% 49% 70% 49%

le should have t :

P e bt or o0 Somewhat disagree 15% 9% 13% 11% 6% 19% 7% 13% 9% 12%

measures to reduce the ;

defiot Strongly disagree 2% 0% 0% 0% 3% 0% 4% 0% 0% 0%

'S-gﬁgggl\;vignﬂ?gebgggﬁg%y Strongly agree 17% 23% 32% 18% 18% 28% 18% 29% 30% 25%

gntri]l itlggr?oez up wi,ttl;1 ittr?e Somewhat agree 57% 60% 52% 55% 49% 60% 48% 53% 65% 53%
W WI

deficit - it can't just Somewhat disagree 17% 12% 10% 20% 24% 8% 24% 1% 4% 18%

oppose every spending -

cut Strongly disagree 9% 6% 6% 7% 10% 4% 1% 8% 0% 5%

ﬁ’]%gﬂz gghhggpdea ave o Strongly agree 45% 49% 43% 38% 49% 38% 41% 38% 48% 41%
ay significantly more tax Somewhat agree 38% 42% 43% A47% 38% 50% 45% 46% 48% 46%

pay signi y :

L%E”éé"!?é?ﬂﬁ :g‘jb“ . Somewhat disagree 15% 9% 13% 16% 8% 8% 10% 10% 4% 7%

sector Strongly disagree 2% 0% 0% 0% 5% 4% 3% 5% 0% 5%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

Here are some arguments that people have made about the economy and the deficit (the fact that the government spends more each year than it receives in tax revenue, increasing

of the Labour Party AND / OR were members of an affiliated Trade Union

the size of Britain’s debt). Please say whether you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each one.

Voting History at General

Union Membership Elections
Voted for a
UNITE/A Only ever number of
micu voted for different
TSSA UCATT UNISON S UNITE/T&G UNITY USDAW Labour parties
el for e Strongly agree 46% 33% 64% 59% 61% 31% 49% 60% 60%
St a that ordnary | Semewhat agree 43% 47% 26% 25% 30% 59% 43% 28% 28%
le should have t i

boar the brunt of - Somewhat disagree 1% 12% 8% 13% 6% 10% 7% 9% 9%
measures to reduce the ;

deficit Strongly disagree 0% 9% 3% 3% 3% 0% 1% 3% 3%
'ggﬁgggl‘;vignﬂ?gebgggﬁg%y Strongly agree 31% 21% 14% 15% 22% 34% 20% 14% 16%
gntri]l itlg?]r?oez up wi}f;1 ittr?e Somewhat agree 57% 53% 55% 50% 52% 52% 62% 52% 52%

W Wi

deficit - it can’t just Somewhat disagree 9% 14% 25% 28% 19% 14% 14% 27% 25%
oppose every spending -

cut Strongly disagree 3% 12% 6% 8% 6% 0% 4% 8% 7%
ﬁ’]%gﬂz gghhggpdea ave o Strongly agree 49% 42% 46% 46% 44% 48% 30% 46% 43%
pay sign!ficanﬂy more tax Somewhat agree 43% 40% 39% 36% 43% 41% 50% 38% 39%
L%E”éé"!?é?ﬂﬁ :g‘jb“ . Somewhat disagree 9% 9% 12% 13% 10% 10% 17% 12% 15%
sector Strongly disagree 0% 9% 3% 5% 4% 0% 4% 4% 3%




Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 c2 DE

Given the number of
seats that each party won
at the election, the
coalition government
between the 35% 40% 30% 29% 40% 36% 38% 29% 26% 40% 36% 32% 28%
Conservatives and the
Liberal Democrats is
probably the right
outcome

The coalition government
is not the legitimate
outcome of the election -
Labour should still be in 65% 60% 70% 71% 60% 64% 62% 71% 74% 60% 64% 68% 72%
government with a
coalition including the
Liberal Democrats

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

Region

South East Wales &
(inc London) Midlands North South West Scotland

Given the number of
seats that each party won
at the election, the
coalition government
between the 40% 32% 33% 31% 38%
Conservatives and the
Liberal Democrats is
probably the right
outcome

The coalition government
is not the legitimate
outcome of the election -
Labour should still be in 60% 68% 67% 69% 62%
government with a
coalition including the
Liberal Democrats
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

Given the number of
seats that each party won
at the election, the
coalition government
between the 37% 35% 36% 26% 22% 29% 39%
Conservatives and the
Liberal Democrats is
probably the right
outcome
The coalition government
is not the legitimate
outcome of the election -
Labour should still be in 63% 65% 64% 74% 78% 71% 61%

government with a
coalition including the
Liberal Democrats
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

Housing Tenure

Party
Membership

Owned

outright

(without
mortgage)

Owned with a
mortgage or
loan

Rented from
Council

Rented from
housing
association

Rented from
someone
else

Rent free

Living with
relatives

Labour Party

Given the number of
seats that each party won
at the election, the
coalition government
between the
Conservatives and the
Liberal Democrats is
probably the right
outcome

34%

36%

28%

25%

39%

67%

35%

37%

The coalition government
is not the legitimate
outcome of the election -
Labour should still be in
government with a
coalition including the
Liberal Democrats

66%

64%

72%

75%

61%

33%

65%

63%

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

Union Membership

ASLEF

BECTU

BFAWU

COMMUNITY

cwu

GFTU

GMB

MU

NACODS

NUM TSSA

UCATT

Given the number of
seats that each party won
at the election, the
coalition government
between the
Conservatives and the
Liberal Democrats is
probably the right
outcome

38%

40%

42%

49%

37%

46%

35%

41%

43%

32%

40%

26%

The coalition government
is not the legitimate
outcome of the election -
Labour should still be in
government with a
coalition including the
Liberal Democrats

62%

60%

58%

51%

63%

54%

65%

59%

57%

68%

60%

74%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

Thinking about the result of the general election and the coalition deal that followed, which of the following statements comes closest to your view?

of the Labour Party AND / OR were members of an affiliated Trade Union

Union Membership

Voting History at General
Elections

UNISON

UNITE/Amicu
S

UNITE/T&G

UNITY

USDAW

Only ever
voted for
Labour

Voted for a
number of
different
parties

Given the number of
seats that each party won
at the election, the
coalition government
between the
Conservatives and the
Liberal Democrats is
probably the right
outcome

34%

41%

30%

41%

32%

32%

39%

The coalition government
is not the legitimate
outcome of the election -
Labour should still be in
government with a
coalition including the
Liberal Democrats

66%

59%

70%

59%

68%

68%

61%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is

elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+

Apologise to voters for the | New leader should do o o o o o o o o o
mistakes made by the this 50% 53% 48% 61% 56% 53% 49% 42% 38%
last Labour government

m‘fg"’ leader should not do 50% 47% 52% 39% 44% 47% 51% 58% 62%
Sppepn°dﬁﬁga'(';lf’t‘;b"° m‘fg"’ leader should do 44% 42% 47% 48% 50% 45% 44% 39% 36%

m‘fg"’ leader should not do 56% 58% 53% 52% 50% 55% 56% 61% 64%
g“;;?gggg {gﬁ;;g‘g};"'es m‘fg"’ leader should do 89% 88% 90% 79% 86% 87% 92% 93% 97%
support among core
Labour supporters m‘fg"’ leader should not do 1% 12% 10% 21% 14% 13% 8% 7% 3%
g“;;?gggg policies flew leader should do 85% 87% 84% 82% 81% 86% 85% 90% 91%
support among swing
voters m‘fg"’ leader should not do 15% 13% 16% 18% 19% 14% 15% 10% 9%
ﬁgigggfgsg;kgjbﬁ}g ggggr m‘fg"’ leader should do 53% 50% 57% 64% 64% 53% 53% 45% 35%
pay and jobs

m‘fg"’ leader should not do 47% 50% 43% 36% 36% 47% 47% 55% 65%
pefend the ge(f\f’éfn‘rﬁggf flew leader should do 69% 71% 67% 67% 65% 64% 69% 76% 84%
especially on the
economy m‘fg"’ leader should not do 31% 29% 33% 33% 35% 36% 31% 24% 16%
f,’ggggfgo”ﬁgt‘?ggys gg;fe m‘fg"’ leader should do 79% 80% 79% 66% 79% 76% 80% 83% 94%
more of the cost of
reducing the deficit m‘fg"’ leader should not do 21% 20% 21% 34% 21% 24% 20% 17% 6%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Socio-Economic Group Region
South East Wales &
AB C1 c2 DE (inc London) Midlands North South West Scotland

Apologise to voters for the | New leader should do o 5 o o o o o o o
mistakes made by the this 47% 49% 53% 55% 52% 46% 52% 50% 48%
last Labour government

fhow leader should not do 53% 51% 47% 45% 48% 54% 48% 50% 52%
Oppose all public New leader should do o o o o o o o o o
spending cuts this 41% 43% 48% 46% 41% 47% 43% 44% 51%

fhow leader should not do 59% 57% 52% 54% 59% 53% 57% 56% 49%
Introduce more policies New leader should do o 5 5 o o o o o o
designed to restore this 90% 90% 89% 87% 89% 88% 89% 91% 90%
support among core
Labour supporters lew leader should not do 10% 10% 11% 13% 11% 12% 11% 9% 10%
Introduce policies New leader should do o o o o o o o o o
designed to restore this 86% 86% 86% 82% 86% 84% 85% 87% 87%
support among swing
voters lew leader should not do 14% 14% 14% 18% 14% 16% 15% 13% 13%
Support strikes by trade New leader should do o o o o o o o o o
unions over public sector this 47% 54% 57% 55% 49% 56% 55% 55% 52%
pay and jobs

fhow leader should not do 53% 46% 43% 45% 51% 44% 45% 45% 48%
Defend the record of the New leader should do o o o o o o o o o
last Labour government, this 74% 68% 67% 66% 69% 69% 69% 68% 73%
especially on the
economy fhow leader shouild not do 26% 32% 33% 34% 31% 31% 31% 32% 27%
Propose new taxes on the | New leader should do o 5 5 o o o o o o
richest so that they bear this 78% 80% 79% 82% 79% 84% 77% 82% 80%
more of the cost of
reducing the deficit lew leader should not do 22% 20% 21% 18% 21% 16% 23% 18% 20%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

Apologise to voters for the | New leader should do o 5 o o o o o
mistakes made by the this 53% 49% 39% 52% 52% 41% 53%
last Labour government

t’}‘ﬂ" leader should not do 47% 51% 61% 48% 48% 59% 47%
Oppose all public New leader should do o o o o o o o
spending cuts this 45% 46% 44% 51% 49% 37% 41%

fhow leader should not do 55% 54% 56% 49% 51% 63% 59%
Introduce more policies New leader should do o o o o o o o
designed to restore this 88% 92% 84% 88% 92% 95% 77%
support among core
Labour supporters lew leader should not do 12% 8% 16% 12% 8% 5% 23%
Introduce policies New leader should do o o o o o o o
designed to restore this 85% 87% 77% 84% 81% 89% 77%
support among swing
voters lew leader should not do 15% 13% 23% 16% 19% 1% 23%
Support strikes by trade New leader should do o o o o o o o
unions over public sector this 56% 55% 42% 54% 55% 38% 61%
pay and jobs

fhow leader should not do 44% 45% 58% 46% 45% 62% 39%
Defend the record of the New leader should do o o o o o o o
last Labour government, this 67% 71% 73% 65% 60% 80% 62%
especially on the
economy fhow leader shouild not do 33% 29% 27% 35% 40% 20% 38%
Propose new taxes on the | New leader should do o 5 o o o o o
richest so that they bear this 78% 79% 68% 87% 82% 89% 62%
more of the cost of
reducing the deficit lew leader should not do 2% 21% 32% 13% 18% 11% 38%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is

elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Housing Tenure

Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives
Apologise to voters for the | New leader should do o o o o 5 o °
mistakes made by the this 47% 48% 52% 65% 55% 75% 56%
last Labour government
lew leader should not do 53% 52% 48% 35% 45% 25% 44%
Oppose all public New leader should do o o o o o 0 °
spending cuts this 41% 43% 50% 59% 46% 50% 46%
lew leader should not do 59% 57% 50% 4% 54% 50% 54%
Introduce more policies New leader should do o o o o o o o
designed to restore this 92% 88% 91% 92% 87% 92% 82%
support among core
Labour supporters lew leader should not do 8% 12% 9% 8% 13% 8% 18%
Introduce policies New leader should do o o o o o o o
designed to restore this 90% 84% 85% 84% 80% 92% 84%
support among swing
voters lew leader should not do 10% 16% 15% 16% 20% 8% 16%
Support strikes by trade New leader should do o o o o 9 o o
unions over pUb'lC sector this 47% 53% 56% 69% 57% 42% 67%
pay and jobs
lew leader should not do 53% 47% 44% 31% 43% 58% 33%
Defend the record of the New leader should do o o o o o o o
last Labour government, this 75% 67% 67% 73% 66% 83% 64%
especially on the
economy lew leader should not do 25% 33% 33% 27% 34% 17% 36%
Propose new taxes on the | New leader should do o o o o o o 0
richest so that they bear this 84% 78% 77% 88% 76% 75% 69%
more of the cost of
reducing the deficit lew leader should not do 16% 22% 23% 12% 24% 25% 31%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Party
Membership Union Membership
Labour Party ASLEF BECTU BFAWU [ COMMUNITY CWu GFTU GMB MU NACODS

Apologise to voters for the | New leader should do o o o o o o o o o o
mistakes made by the this 51% 77% 68% 74% 82% 70% 96% 56% 82% 91%
last Labour government

fhow leader should not do 49% 23% 32% 26% 18% 30% 4% 44% 18% 9%
Oppose all public New leader should do o o o o o o o o o o
spending cuts this 48% 66% 62% 68% 61% 55% 77% 45% 66% 77%

fhow leader should not do 52% 34% 38% 32% 39% 45% 23% 55% 34% 23%
Introduce more policies New leader should do o o o o o o o o o o
designed to restore this 88% 81% 83% 87% 82% 91% 88% 88% 71% 82%
support among core
Labour supporters lew leader should not do 12% 19% 17% 13% 18% 9% 12% 12% 29% 18%
Introduce policies New leader should do o o o o o o o o o o
designed to restore this 85% 83% 88% 94% 89% 89% 88% 86% 82% 95%
support among swing
voters lew leader should not do 15% 17% 12% 6% 1% 1% 12% 14% 18% 5%
Support strikes by trade New leader should do o o o o o o o o o o
unions over public sector this 55% 79% 76% 77% 73% 61% 85% 58% 79% 95%
pay and jobs

fhow leader should not do 45% 21% 24% 23% 27% 39% 15% 42% 21% 5%
Defend the record of the New leader should do o o o o o o o o o o
last Labour government, this 73% 79% 81% 77% 76% 77% 81% 69% 86% 91%
especially on the
economy lew leader should not do 27% 21% 19% 23% 24% 23% 19% 31% 14% 9%
Propose new taxes on the | New leader should do 5 o o o o o o o o o
richest so that they bear this 80% 87% 80% 83% 81% 87% 92% 80% 75% 85%
more of the cost of
reducing the deficit New leader should not do 20% 13% 20% 17% 19% 13% 8% 20% 25% 15%

this
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Union Membership

UNITE/Amicu
NUM TSSA UCATT | UNISON s UNITE/T&G UNITY USDAW

Apologise to voters for the | New leader should do o o o o o o o o
mistakes made by the this 70% 76% 74% 49% 52% 58% 79% 64%
last Labour government

lew leader should not do 30% 24% 26% 51% 48% 42% 21% 36%
Oppose all public New leader should do o o o o o ° o )
spending cuts this 72% 67% 70% 46% 41% 53% 75% 44%

t’\tl:lasw leader should not do 28% 339, 30% 549 59% 47% 259, 56%
Introduce more policies New leader should do o o o o o o o o
designed to restore this 83% 76% 84% 91% 90% 90% 86% 86%
support among core
Labour supporters lew leader should not do 18% 24% 16% 9% 10% 10% 14% 14%
Introduce policies New leader should do o o o o o o o o
designed to restore this 95% 91% 88% 85% 87% 87% 89% 90%
support among swing
voters lew leader should not do 5% 9% 12% 15% 13% 13% 1% 10%
Support strikes by trade New leader should do o o o o o o o o
unions over public sector this 75% 73% 79% 59% 45% 66% 75% 58%
pay and jobs

t’\tl:lasw leader should not do 259% 279, 219, 4% 55% 34% 259, 42%
Defend the record of the New leader should do o o o o o o o o
last Labour government, this 76% 79% 84% 65% 69% 74% 72% 69%
especially on the
economy lew leader should not do 24% 21% 16% 35% 31% 26% 28% 31%
Propose new taxes on the New leader should do o o o o o o o o
richest so that they bear this 84% 77% 88% 81% 80% 82% 92% 71%
more of the cost of
reducing the deficit New leader should not do 16% 23% 129% 19% 20% 18% 8% 29%

this
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Voting History at General
Elections
Voted for a
Only ever number of
voted for different
Labour parties
Apologise to voters for the | New leader should do
mistakes made by the this 50% 50%
last Labour government
m?sw leader should not do 50% 50%
Oppose all public New leader should do
spending cuts this 47% 39%
mtlesw leader should not do 53, 61%
Introduce more policies New leader should do
designed to restore this 90% 88%
support among core
Labour supporters m?sw leader should not do 10% 12%
Introduce policies New leader should do
designed to restore this 86% 85%
support among swing
voters m?sw leader should not do 14% 15%
Support strikes by trade New leader should do
unions over public sector this 54% 53%
pay and jobs
m?sw leader should not do 46% 47%
Defend the record of the New leader should do
last Labour government, this 72% 64%
especially on the
economy m?sw leader should not do 28% 36%
Propose new taxes on the | New leader should do
richest so that they bear this 80% 78%
more of the cost of
reducing the deficit m?sw leader should not do 20% 22%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Gender Age

Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Commit to a massive New leader should do
expansion of this 90% 89% 92% 82% 86% 88% 94% 95% 95%
apprenticeship schemes
to provide new New leader should not do
gggg{éunltles for young this 10% 11% 8% 18% 14% 12% 6% 5% 5%
Develop policies to New leader should do
Lﬂgﬁ?s%wi érggﬁ?k\gehealth this 85% 83% 87% 79% 85% 85% 88% 84% 84%
and education built
giving consumers more this 15% 17% 13% 21% 15% 15% 12% 16% 16%
choice and power

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is

elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Socio-Economic Group Region
South East Wales &

AB C1 C2 DE (inc London) Midlands North South West Scotland
Commit to a massive New leader should do
expansion of this 90% 90% 91% 91% 87% 89% 91% 91% 96%
apprenticeship schemes
to provide new New leader should not do
gggg{éunltles for young this 10% 10% 9% 9% 13% 11% 9% 9% 4%
Develop policies to New leader should do
Lﬂgﬁgszqsiéfggﬁ?k\gehea”h this 79% 85% 89% 88% 82% 86% 86% 84% 87%
and education built
around the princip|e of NeW |eader Sh0u|d not dO
giving consumers more this 21% 15% 11% 12% 18% 14% 14% 16% 13%
choice and power




Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Working Status
Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student
Commit to a massive New leader should do
expansion of this 90% 92% 89% 88% 90% 95% 78%
apprenticeship schemes
to provide new New leader should not do
opportunities for young this 10% 8% 11% 12% 10% 5% 22%
people
Develop policies to New leader should do
reform and improve this 87% 85% 71% 86% 83% 82% 77%
public services like health
and education built
around the princip'e Of NeW |eader Sh0u|d not dO
giving consumers more this 13% 15% 29% 14% 17% 18% 23%
choice and power

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is

elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Housing Tenure

Owned

outright Owned with a Rented from Rented from

(without mortgage or Rented from housing someone Living with

mortgage) loan Council association else Rent free relatives

Commit to a massive New leader should do
expansion of this 94% 91% 89% 91% 83% 92% 83%
apprenticeship schemes
to provide new New leader should not do
opportunities for young this 6% 9% 11% 9% 17% 8% 17%
people
Develop policies to New leader should do
reform and improve this 83% 85% 89% 92% 84% 92% 80%
public services like health
and education built
around the princip'e Of NeW |eader Sh0u|d not dO
giving consumers more this 17% 15% 11% 8% 16% 8% 20%
choice and power
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Party

Membership Union Membership

Labour Party ASLEF BECTU BFAWU | COMMUNITY CWU GFTU GMB MU NACODS
Commit to a massive New leader should do
expansion of this 88% 78% 82% 87% 80% 90% 88% 91% 79% 82%
apprenticeship schemes
to provide new New leader should not do
gggg{éunltles for young this 12% 22% 18% 13% 20% 10% 12% 9% 21% 18%
Develop policies to New leader should do
reform and improve this 83% 85% 77% 94% 84% 91% 88% 87% 79% 86%
public services like health
and education built
around the princip'e Of NeW |eader Sh0u|d not dO
giving consumers more this 17% 15% 23% 6% 16% 9% 12% 13% 21% 14%
choice and power

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Union Membership

UNITE/Amicu

NUM TSSA UCATT | UNISON S UNITE/T&G UNITY USDAW
Commit to a massive New leader should do
expansion of this 83% 79% 86% 92% 94% 91% 86% 91%
apprenticeship schemes
to provide new New leader should not do
opportunities for young this 18% 21% 14% 8% 6% 9% 14% 9%
people
Develop policies to New leader should do
reform and improve this 80% 88% 86% 87% 84% 93% 90% 89%
public services like health
and education built
around the princip'e Of NeW |eader Sh0u|d not dO
giving consumers more this 20% 12% 14% 13% 16% 7% 10% 11%
choice and power
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

The result of the Labour leadership contest will be announced on 25 September. Here are some things that have been suggested the new Labour leader should do once he or she is
elected to start winning back support. Please say whether you think the new leader should, or should not, do each one.

Voting History at General
Elections
Voted for a
Only ever number of
voted for different
Labour parties
Commit to a massive New leader should do
expansion of this 90% 91%
apprenticeship schemes
to provide new New leader should not do
opportunities for young this 10% 9%,
people
Develop policies to New leader should do
reform and improve this 86% 84%
public services like health
and education built
giving consumers more this 14% 16%
choice and power
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Scrapping university Strongly support 26% 26% 26% 18% 25% 25% 27% 28% 32%
ot A Somewhat support 45% 46% 45% 40% 40% 47% 48% 47% 50%
graduate tax Somewhat oppose 21% 21% 20% 24% 27% 21% 17% 19% 1%
Strongly oppose 8% 8% 8% 19% 9% 6% 8% 6% 7%
Starting the 50 per cent Strongly support 44% 48% 40% 28% 39% 43% 49% 49% 51%
010008 your oy _Somewhat support 37% 34% 40% 41% 43% 38% 30% 35% 34%
?geﬁéggéooo asitcurrently  Somewhat oppose 15% 13% 16% 24% 13% 15% 15% 1% 12%
Strongly oppose 5% 5% 4% 6% 5% 4% 5% 4% 3%
Scrapping the renewal of Strongly support 32% 34% 31% 28% 27% 30% 36% 36% 39%
e e e clear _Somewhat support 32% 30% 35% 42% 36% 35% 28% 29% 27%
deterrent Somewhat oppose 26% 24% 29% 23% 28% 25% 28% 27% 25%
Strongly oppose 9% 12% 6% 7% 9% 10% 9% 8% 9%
Increase the minimum Strongly support 54% 50% 58% 46% 52% 51% 56% 59% 59%
wage to more than £7per - ~gomewhat support 35% 36% 33% 35% 35% 37% 34% 35% 28%
Somewhat oppose 10% 11% 8% 16% 10% 11% 9% 5% 12%
Strongly oppose 2% 3% 1% 3% 3% 2% 1% 2% 1%
Introduce a new High Pay  Strongly support 50% 51% 49% 29% 41% 46% 60% 60% 58%
o Sarares inihs Somewhat support 35% 33% 36% 44% 39% 41% 26% 29% 33%
private sector Somewhat oppose 12% 13% 1% 24% 16% 10% 10% 9% 7%
Strongly oppose 3% 3% 3% 4% 4% 4% 3% 2% 2%
Introduce a new Mansion Strongly support 57% 57% 57% 37% 57% 54% 59% 63% 66%
g2x ot homes Worth over  ~go e what support 32% 31% 33% 40% 30% 33% 32% 32% 27%
Somewhat oppose 9% 10% 8% 22% 9% 11% 7% 4% 6%
Strongly oppose 2% 2% 2% 1% 3% 2% 2% 2% 1%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Socio-Economic Group Region
South East Wales &

AB C1 c2 DE (inc London) Midlands North South West Scotland

Scrapping university Strongly support 27% 25% 27% 24% 27% 24% 26% 29% 25%
}ggg’gugﬁﬁ; and | Somewhat support 46% 45% 46% 45% 46% 46% 46% 40% 44%
graduate tax Somewhat oppose 18% 22% 21% 22% 18% 24% 19% 22% 24%
Strongly oppose 9% 8% 6% 9% 9% 6% 8% 9% 7%

Starting the 50 per cent Strongly support 43% 44% 45% 42% 44% 42% 43% 51% 45%
000 8 e ool Somewhat support 37% 38% 36% 36% 34% 38% 39% 30% 40%
31‘62(1: ggéOOO asitcurrently  Somewhat oppose 14% 15% 13% 17% 17% 14% 14% 14% 12%
Strongly oppose 6% 3% 6% 5% 5% 5% 5% 4% 3%

Scrapping the renewal of Strongly support 39% 33% 27% 27% 35% 28% 31% 30% 39%
tshe Trident missile Somewnhat support 30% 33% 34% 31% 34% 36% 31% 30% 29%

ystem, Britain’s nuclear

deterrent Somewhat oppose 22% 27% 26% 33% 23% 27% 28% 30% 25%
Strongly oppose 8% 7% 12% 9% 8% 9% 10% 11% 8%

Increase the minimum Strongly support 51% 52% 55% 61% 54% 52% 53% 58% 56%
wage to more than £7per g, mewhat support 36% 36% 35% 27% 36% 34% 36% 28% 34%
Somewhat oppose 11% 10% 8% 9% 8% 12% 9% 12% 9%

Strongly oppose 2% 2% 1% 3% 3% 2% 2% 2% 1%

Introduce a new High Pay Strongly support 44% 50% 55% 53% 44% 50% 51% 55% 57%
o Saranes inhs Somewhat support 38% 36% 32% 33% 38% 31% 38% 30% 26%
private sector Somewhat oppose 13% 12% 1% 12% 15% 14% 8% 1% 13%
Strongly oppose 5% 3% 2% 3% 3% 4% 3% 4% 4%

Introduce a new Mansion Strongly support 58% 56% 59% 54% 51% 57% 59% 62% 63%
gax on homes worth over  ~go e what support 31% 32% 30% 35% 36% 32% 32% 26% 27%
Somewhat oppose 9% 9% 8% 9% 11% 9% 8% 10% 9%

Strongly oppose 1% 2% 3% 2% 3% 2% 2% 2% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Scrapping university Strongly support 26% 27% 21% 29% 31% 26% 23%
tuition fees and S S S S S S S S
introducing a new omewhat support 45% 44% 53% 43% 44% 51% 35%
graduate tax Somewhat oppose 21% 24% 18% 20% 18% 16% 23%
Strongly oppose 8% 5% 8% 8% 6% 6% 19%
Starting the 50 per cent Strongly support 44% 40% 39% 49% 47% 48% 34%
top rate of Income Tax at S S S 5 S S 3
£100,000 a year, instead Somewhat support 37% 39% 29% 31% 40% 34% 35%
?A‘ £150,000 as it currently  Somewhat oppose 14% 16% 18% 16% 8% 13% 22%
e case
Strongly oppose 4% 4% 13% 4% 5% 5% 9%
Scrapping the renewal of Strongly support 31% 29% 37% 42% 26% 38% 28%
the Trident missile S S S S S S S
system, Britain’s nuclear Somewhat support 32% 37% 37% 24% 38% 25% 41%
deterrent Somewhat oppose 27% 27% 18% 24% 28% 27% 22%
Strongly oppose 10% 6% 8% 11% 8% 10% 9%
Increase the minimum Strongly support 50% 60% 70% 73% 59% 57% 43%
wage to more than £7per g, mewhat support 38% 33% 19% 21% 26% 32% 38%
Somewhat oppose 10% 8% 8% 2% 13% 9% 14%
Strongly oppose 2% 0% 3% 4% 1% 2% 4%
Introduce a new High Pay  Strongly support 48% 51% 58% 58% 57% 61% 26%
commission to restrict S 5 5 S S S S
high salaries in the Somewhat support 37% 36% 24% 27% 37% 27% 39%
private sector Somewhat oppose 12% 12% 8% 12% 4% 10% 32%
Strongly oppose 4% 2% 11% 2% 3% 2% 3%
Introduce a new Mansion Strongly support 57% 56% 55% 62% 62% 65% 35%
Tax on homes worth over
£2 million Somewhat support 33% 33% 26% 31% 24% 28% 35%
Somewhat oppose 9% 9% 16% 6% 12% 5% 25%
Strongly oppose 2% 2% 3% 1% 3% 1% 4%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Scrapping university Strongly support 28% 26% 24% 34% 27% 8% 15% 28%
ot A Somewhat support 47% 48% 44% 41% 38% 67% 37% 43%
graduate tax Somewhat oppose 20% 20% 24% 17% 23% 25% 27% 21%
Strongly oppose 6% 7% 9% 8% 11% 0% 21% 8%
Starting the 50 per cent Strongly support 45% 45% 39% 47% 44% 33% 35% 44%
gpoga}g%gf;';ggf;ﬁng?;ﬁ Somewhat support 37% 37% 39% 33% 35% 50% 37% 36%
?rI £150,000 as it currently ~ Somewhat oppose 15% 14% 13% 1% 17% 17% 22% 15%
e case
Strongly oppose 3% 4% 9% 9% 4% 0% 7% 6%
Scrapping the renewal of Strongly support 35% 31% 24% 33% 39% 25% 22% 34%
the Trident missile Somewhat t 31% 32 40% 29% 32 50% 38% 34
system, Britain’s nuclear omewnat suppor ° ° ° ° ° ° ° °
deterrent Somewhat oppose 25% 27% 28% 28% 21% 25% 30% 25%
Strongly oppose 9% 9% 8% 10% 9% 0% 10% 8%
Increase the minimum Strongly support 56% 52% 58% 61% 56% 42% 42% 55%
wage to more than £7per - ~gomewnat support 34% 36% 32% 28% 32% 50% 40% 33%
Somewhat oppose 9% 10% 7% 8% 11% 8% 15% 10%
Strongly oppose 1% 2% 3% 3% 1% 0% 2% 2%
Introduce a new High Pay  Strongly support 55% 49% 49% 59% 47% 33% 30% 47%
high Salaries m the Somewhat support 33% 35% 39% 26% 36% 67% 44% 35%
private sector Somewhat oppose 9% 13% 9% 10% 13% 0% 22% 14%
Strongly oppose 2% 3% 4% 5% 4% 0% 4% 4%
Introduce a new Mansion Strongly support 56% 59% 53% 66% 56% 50% 47% 55%
g2x ot homes worth over  ~go e what support 35% 30% 31% 25% 35% 50% 27% 32%
Somewhat oppose 7% 9% 11% 7% 8% 0% 22% 11%
Strongly oppose 2% 2% 4% 2% 1% 0% 3% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Union Membership

ASLEF BECTU BFAWU | COMMUNITY cwu GFTU GMB MU NACODS NUM TSSA
Scrapping university Strongly support 43% 42% 52% 42% 37% 42% 27% 36% 57% 49% 43%
ot A Somewhat support 30% 38% 32% 36% 46% 35% 47% 49% 30% 34% 34%
graduate tax Somewhat oppose 23% 19% 16% 18% 13% 23% 21% 15% 13% 15% 20%
Strongly oppose 4% 2% 0% 4% 4% 0% 5% 0% 0% 2% 3%
Starting the 50 per cent Strongly support 33% 44% 39% 33% 46% 38% 48% 42% 45% 46% 44%
010008 your oy _Somewhat support 48% 48% 58% 60% 39% 58% 37% 47% 50% 46% 44%
?r{e%lggéooo asitcurrently  Somewhat oppose 20% 6% 0% 4% 9% 0% 12% 8% 5% 5% 6%
Strongly oppose 0% 2% 3% 2% 6% 4% 3% 3% 0% 2% 6%
Scrapping the renewal of Strongly support 42% 47% 37% 36% 32% 38% 29% 31% 48% 32% 43%
e e B clear _Somewhat support 47% 36% 37% 51% 38% 54% 33% 67% 52% 51% 40%
deterrent Somewhat oppose 9% 13% 13% 13% 20% 8% 25% 3% 0% 12% 17%
Strongly oppose 2% 4% 13% 0% 11% 0% 13% 0% 0% 5% 0%
Increase the minimum Strongly support 59% 58% 57% 43% 62% 48% 60% 58% 59% 53% 53%
wage to more than £7per - ~goewhat support 35% 34% 30% 45% 31% 44% 33% 39% 41% 43% 41%
Somewhat oppose 4% 8% 10% 11% 6% 8% 6% 3% 0% 5% 3%
Strongly oppose 2% 0% 3% 0% 1% 0% 1% 0% 0% 0% 3%
Introduce a new High Pay  Strongly support 40% 42% 39% 31% 55% 31% 49% 42% 50% 44% 47%
commission to restrict
high salaries in the Somewhat support 49% 48% 52% 47% 35% 62% 40% 50% 50% 46% 44%
private sector Somewhat oppose 1% 10% 3% 22% 10% 8% 7% 8% 0% 10% 9%
Strongly oppose 0% 0% 6% 0% 1% 0% 4% 0% 0% 0% 0%
Introduce a new Mansion Strongly support 50% 56% 45% 49% 55% 42% 59% 42% 50% 49% 44%
g2x oft homes Worth over  ~go e what support 46% 33% 48% 40% 39% 50% 26% 39% 45% 39% 47%
Somewhat oppose 4% 10% 6% 1% 4% 8% 13% 16% 5% 7% 6%
Strongly oppose 0% 2% 0% 0% 1% 0% 3% 3% 0% 5% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Voting History at General
Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
UCATT UNISON S UNITE/T&G UNITY USDAW Labour parties
Scrapping university Strongly support 38% 26% 26% 38% 48% 25% 26% 25%
ot A Somewhat support 43% 45% 49% 38% 28% 44% 45% 47%
graduate tax Somewhat oppose 19% 21% 19% 18% 21% 24% 21% 20%
Strongly oppose 0% 9% 6% 7% 3% 7% 8% 8%
Starting the 50 per cent Strongly support 40% 43% 48% 43% 45% 45% 45% 43%
gpoga}g%gf;';ggf;ﬁng?;ﬁ Somewhat support 47% 41% 36% 38% 48% 36% 37% 37%
ﬁ{ £150,000 as it currently ~ Somewhat oppose 14% 12% 13% 14% 7% 15% 14% 15%
e case
Strongly oppose 0% 4% 3% 5% 0% 4% 4% 5%
Scrapping the renewal of Strongly support 38% 35% 32% 33% 48% 28% 31% 34%
the Trident missile Somewhat ¢ 52 34% 29% 329 38% 37% 33% 327
system, Britain’s nuclear omewnat suppor ° ° ° ° ° ° ° °
deterrent Somewhat oppose 10% 25% 26% 29% 10% 27% 26% 26%
Strongly oppose 0% 7% 14% 6% 3% 8% 10% 8%
Increase the minimum Strongly support 48% 51% 53% 60% 50% 61% 56% 50%
wage to more than £7per - ~go e wnat support 40% 38% 36% 35% 50% 31% 33% 37%
Somewhat oppose 12% 9% 8% 5% 0% 7% 9% 11%
Strongly oppose 0% 2% 3% 0% 0% 1% 2% 2%
Introduce a new High Pay  Strongly support 40% 50% 54% 53% 45% 46% 50% 50%
high Salaries m the Somewhat support 53% 36% 33% 39% 48% 40% 34% 36%
private sector Somewhat oppose 5% 11% 9% 7% 3% 1% 13% 1%
Strongly oppose 2% 3% 4% 1% 3% 3% 3% 4%
Introduce a new Mansion Strongly support 56% 58% 60% 62% 64% 56% 59% 54%
g2x ot homes Worth over  ~go e what support 37% 36% 31% 31% 32% 31% 30% 35%
Somewhat oppose 7% 5% 8% 4% 0% 9% 9% 8%
Strongly oppose 0% 1% 2% 3% 4% 4% 2% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Re-nationalise the Strongly support 37% 40% 35% 30% 33% 34% 43% 42% 41%
railways Somewhat support 41% 38% 44% 45% 44% 44% 38% 40% 37%
Somewhat oppose 17% 17% 18% 22% 18% 18% 16% 16% 15%
Strongly oppose 4% 5% 3% 2% 4% 5% 4% 3% 6%
Introduce anew 10% tax Strongly support 20% 24% 16% 19% 19% 17% 19% 24% 27%
Svggﬁ?ﬁgi e ontopof _Somewhat support 33% 35% 32% 32% 33% 31% 33% 35% 38%
I'gggrtlg;gcgatgﬁoﬁ gléﬂd Somewhat oppose 30% 25% 35% 32% 30% 33% 29% 29% 24%
elderly Strongly oppose 17% 16% 18% 17% 18% 19% 18% 13% 10%

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Socio-Economic Group Region
South East Wales &

AB C1 Cc2 DE (inc London) Midlands North South West Scotland

Re-nationalise the Strongly support 35% 40% 39% 34% 38% 35% 38% 34% 41%

railways Somewhat support 42% 41% 40% 44% 41% 41% 43% 40% 37%

Somewhat oppose 18% 16% 18% 18% 16% 20% 16% 23% 16%

Strongly oppose 5% 4% 4% 4% 5% 4% 3% 3% 6%

Introduce anew 10% tax Strongly support 22% 18% 22% 18% 19% 21% 20% 22% 20%

on people’s estates Somewhat support 34% 32% 34% 35% 34% 329% 34% 32% 32%
when they die, on top of

I'gggrtlg;gcgatgﬁoﬁ gléﬂd Somewhat oppose 29% 31% 29% 31% 32% 32% 28% 26% 32%

elderly Strongly oppose 14% 19% 15% 17% 16% 15% 18% 19% 16%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
Re-nationalise the Strongly support 37% 34% 58% 48% 34% 43% 28%
railways Somewhat support 42% 42% 26% 45% 37% 38% 48%
Somewhat oppose 17% 21% 13% 6% 25% 14% 20%
Strongly oppose 4% 2% 3% 1% 4% 5% 4%
Introduce anew 10% tax Strongly support 20% 16% 26% 21% 24% 26% 14%
e e e e o of _Somewhat support 33% 34% 39% 25% 36% 34% 35%
Inheritance Tax, to fund Somewhat oppose 29% 33% 21% 35% 26% 28% 35%
long term care for the

elderly Strongly oppose 18% 17% 13% 19% 14% 13% 16%

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Re-nationalise the Strongly support 38% 36% 36% 42% 44% 17% 30% 36%
railways Somewhat support 42% 42% 40% 42% 37% 67% 45% 42%
Somewhat oppose 17% 18% 19% 12% 16% 17% 22% 17%
Strongly oppose 4% 4% 4% 5% 4% 0% 3% 5%
Introduce anew 10% tax Strongly support 23% 17% 21% 31% 23% 25% 12% 24%
mgﬁ?ﬁg Yo ontopof _Somewhat support 33% 33% 36% 41% 30% 50% 31% 35%
Inheritance Tax, to fund Somewhat oppose 29% 32% 28% 19% 30% 17% 34% 27%
long term care for the
elderly Strongly oppose 15% 18% 15% 9% 17% 8% 23% 13%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS NUM TSSA

Re-nationalise the Strongly support 51% 52% 45% 47% 54% 46% 41% 42% 59% 51% 65%
railways Somewhat support 28% 35% 39% 31% 32% 42% 39% 42% 36% 34% 26%

Somewhat oppose 17% 10% 10% 20% 12% 12% 13% 13% 5% 12% 9%

Strongly oppose 4% 4% 6% 2% 2% 0% 7% 3% 0% 2% 0%
Introduce a new 10% tax Strongly support 41% 40% 50% 42% 32% 58% 23% 46% 61% 39% 40%
on people’s estates
when they die, on top of Somewhat support 35% 35% 27% 42% 30% 23% 38% 38% 30% 41% 34%
I'gggrt'g;nmcgatgﬁoﬁ gléﬂd Somewhat oppose 20% 19% 17% 11% 23% 19% 24% 8% 4% 12% 1%
elderly Strongly oppose 4% 6% 7% 4% 15% 0% 15% 8% 4% 7% 14%

Here are some policies that have been proposed by various candidates for the Labour leadership. Please can you say whether you strongly support, somewhat support, somewhat
oppose or strongly oppose each one:

Voting History at General
Union Membership Elections
Voted for a
. Only ever number of
UNITE/Amicu voted for different
UCATT UNISON S UNITE/T&G UNITY USDAW Labour parties

Re-nationalise the Strongly support 49% 39% 41% 40% 55% 38% 39% 35%
railways Somewhat support 37% 44% 37% 44% 24% 44% 42% 41%
Somewhat oppose 12% 14% 19% 14% 21% 17% 16% 19%
Strongly oppose 2% 4% 4% 2% 0% 1% 4% 5%
Introduce anew 10% tax Strongly support 40% 20% 23% 29% 59% 25% 20% 21%
o epof _Somewhat support 28% 32% 32% 28% 28% 28% 34% 32%
:Qﬂger;te&;nmcgatgﬁotﬁ glénd Somewhat oppose 19% 31% 27% 25% 14% 25% 31% 28%
elderly Strongly oppose 14% 17% 18% 19% 0% 23% 15% 19%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

Gender Age Socio-Economic Group
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ AB C1 c2 DE

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably 53% 54% 53% 56% 56% 50% 53% 50% 59% 53% 53% 54% 53%
win the next general
election without having to
change fundamentally

The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general 47% 46% 47% 44% 44% 50% 47% 50% 41% 47% 47% 46% 47%
election, even if the
coalition government is
unpopular in five years’
time

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

Region

South East Wales &
(inc London) Midlands North South West Scotland

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably 51% 55% 53% 53% 55%
win the next general
election without having to
change fundamentally

The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general 49% 45% 47% 47% 45%
election, even if the
coalition government is
unpopular in five years’
time

Page 93



Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably 53% 48% 56% 56% 58% 55% 58%
win the next general
election without having to
change fundamentally
The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general 47% 52% 44% 44% 42% 45% 42%

election, even if the
coalition government is
unpopular in five years’
time
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

Housing Tenure

Party
Membership

Owned

outright

(without
mortgage)

Owned with a
mortgage or
loan

Rented from
Council

Rented from
housing
association

Rented from
someone
else

Rent free

Living with
relatives

Labour Party

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably
win the next general
election without having to
change fundamentally

54%

51%

58%

56%

54%

67%

58%

54%

The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general
election, even if the
coalition government is
unpopular in five years’
time

46%

49%

42%

44%

46%

33%

42%

46%

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

Union Membership

ASLEF

BECTU

BFAWU

COMMUNITY

cwu

GFTU

GMB

MU

NACODS

NUM

TSSA

UCATT

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably
win the next general
election without having to
change fundamentally

43%

49%

42%

53%

51%

42%

50%

46%

43%

59% 40%

49%

The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general
election, even if the
coalition government is
unpopular in five years’
time

57%

51%

58%

47%

49%

58%

50%

54%

57%

41% 60%

51%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

Thinking about Labour’s chances at the next general election, scheduled for May 2015, which of the following statements comes closest to your view?

of the Labour Party AND / OR were members of an affiliated Trade Union

Union Membership

Voting History at General
Elections

UNISON

UNITE/Amicu

S

UNITE/T&G

UNITY

USDAW

Voted for a

Only ever number of
voted for different
Labour parties

The coalition government
will prove so unpopular in
five years’ time that the
Labour Party will probably
win the next general
election without having to
change fundamentally

54%

49%

53%

48%

50%

54% 51%

The Labour Party needs
to change quite
fundamentally before it
will win back enough
support to win a general
election, even if the
coalition government is
unpopular in five years’
time

46%

51%

47%

52%

50%

46% 49%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+

On balance, immigration Strongly agree 15% 18% 12% 17% 19% 13% 13% 15% 17%
into Britain has brought — ~Somewhat agree 30% 29% 31% 40% 31% 29% 26% 27% 40%

Somewhat disagree 28% 26% 31% 31% 25% 28% 30% 32% 26%

Strongly disagree 26% 26% 26% 12% 25% 30% 31% 26% 17%
So far people in the Strongly agree 19% 20% 18% 18% 22% 19% 17% 16% 20%
private sector have been
hit hardest by the _ pay  Somewhatagree 37% 38% 36% 45% 41% 39% 34% 34% 31%
cuts and job losses,
while public sector Somewhat disagree 30% 29% 30% 28% 25% 27% 31% 35% 38%
employees have been
largely protected with job
security and generous Strongly disagree 14% 12% 16% 9% 12% 15% 18% 15% 11%
pensions
If people manage to Strongly agree 17% 19% 15% 21% 21% 16% 15% 16% 12%
thatls & good thing for _Somewhat agree 50% 50% 51% 51% 49% 54% 52% 46% 46%
Britain rather than a bad Somewhat disagree 27% 25% 29% 26% 25% 25% 26% 31% 36%
thing Strongly disagree 5% 5% 5% 2% 5% 4% 6% 7% 6%
The government should Strongly agree 37% 39% 35% 25% 30% 35% 38% 44% 50%
intervene to try and make
society more equal, even  Somewhat agree 43% 42% 45% 42% 46% 45% 45% 38% 41%
if this means reducing
living standards for those  gomewhat disagree 17% 17% 17% 26% 19% 17% 14% 17% 8%
at the top as well as
raising them forthose at “gtrongly disagree 3% 3% 4% 6% 4% 3% 3% 1% 1%
Private companies Strongly agree 34% 35% 34% 24% 30% 31% 36% 43% 45%
gg‘r’;ft'g ggvyﬁ;hdaglﬁvg;;gg Somewhat agree 37% 37% 36% 44% 36% 41% 36% 34% 29%
pugllcdservtlpes like health  Somewhat disagree 25% 25% 26% 29% 30% 24% 24% 21% 24%
ana eaucation

Strongly disagree 4% 3% 4% 4% 4% 5% 4% 2% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Socio-Economic Group Region
South East Wales &
AB Ci C2 DE (inc London) Midlands North South West Scotland
On balance, immigration Strongly agree 26% 15% 9% 9% 21% 15% 11% 15% 16%
into Britain has brought ™ Somewhat agree 35% 33% 27% 21% 35% 29% 28% 22% 34%
Somewhat disagree 24% 29% 29% 32% 25% 31% 30% 27% 26%
Strongly disagree 15% 22% 35% 38% 18% 25% 30% 36% 25%
So far people in the Strongly agree 16% 19% 21% 19% 18% 22% 17% 21% 19%
private sector have been
e ofpay _ Somewhat agree 31% 35% 43% 45% 37% 40% 36% 39% 36%
cuts and job losses,
while public sector Somewhat disagree 36% 29% 26% 28% 33% 25% 31% 26% 29%
employees have been
largely protected with job
security and generous Strongly disagree 17% 17% 10% 9% 13% 13% 16% 14% 16%
pensions
If people manage to Strongly agree 17% 16% 18% 19% 21% 15% 16% 21% 14%
Fhe;toi.;"g T fior _Somewhat agree 47% 53% 51% 48% 48% 53% 52% 44% 51%
tBhr'Itam rather than a bad Somewhat disagree 30% 25% 26% 30% 25% 28% 27% 29% 32%
in
g Strongly disagree 6% 6% 5% 4% 7% 3% 6% 6% 4%
The government should Strongly agree 40% 36% 33% 40% 37% 35% 36% 44% 37%
intervene to try and make
society more equal, even Somewhat agree 43% 43% 45% 43% 42% 46% 44% 40% 43%
if this means reducing
g\t/'tf??e Stgapnggrxz Jogsthose Somewhat disagree 15% 18% 18% 13% 18% 17% 16% 14% 16%
raising them for those at  ~gyongly i 2% 3% 4% 5% 4% 2% 3% 3% 5%
the bottom gly disagree (3 (3 ) (3 (3 (3 o o (3}
Private companies Strongly agree 32% 35% 35% 37% 32% 36% 35% 39% 33%
gg‘,?;{t'g gg;ﬁ;%ggg% Somewhat agree 32% 38% 40% 37% 36% 36% 37% 34% 40%
pugllcdservtlpes like health  Somewhat disagree 32% 24% 22% 22% 27% 25% 25% 22% 25%
and education
Strongly disagree 4% 3% 3% 4% 5% 3% 3% 5% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student
On balance, immigration Strongly agree 16% 11% 23% 24% 14% 15% 15%
into Britain has brought ™ Somewhat agree 29% 32% 33% 23% 23% 36% 34%
Somewhat disagree 27% 32% 21% 23% 29% 30% 34%
Strongly disagree 28% 25% 23% 31% 34% 19% 18%
So far people in the Strongly agree 19% 23% 18% 14% 20% 15% 16%
private sector have been
Y e of pay _ Somewhat agree 36% 39% 47% 38% 46% 33% 41%
cuts and job losses,
while public sector Somewhat disagree 28% 29% 32% 35% 22% 37% 35%
employees have been
largely protected with job
security and generous Strongly disagree 16% 9% 3% 13% 12% 15% 9%
pensions
If people manage to Strongly agree 17% 16% 18% 20% 17% 14% 22%
e e o o Somewhat agree 51% 51% 41% 52% 52% 48% 43%
tBhr'itain rather than a bad Somewhat disagree 26% 29% 31% 21% 27% 31% 30%
in
g Strongly disagree 5% 4% 10% 6% 4% 6% 4%
The government should Strongly agree 34% 36% 37% 42% 32% 49% 35%
intervene to try and make
society more equal, even Somewhat agree 45% 45% 37% 44% 51% 36% 35%
if this means reducing
living standards for those  Somewnhat disagree 17% 16% 26% 13% 16% 14% 19%
at the top as well as
'trﬁ':‘ g’&gﬁm for those at Strongly disagree 4% 3% 0% 1% 1% 1% 10%
Private companies Strongly agree 33% 34% 28% 40% 43% 44% 16%
gg‘,?;{t'g glg;ﬁ;hda;;igggg Somewhat agree 38% 37% 44% 35% 32% 32% 35%
pugllcdservtlpes like health  Somewhat disagree 26% 25% 26% 21% 21% 22% 41%
and education
Strongly disagree 4% 3% 3% 4% 4% 2% 7%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
On balance, immigration Strongly agree 16% 14% 12% 18% 20% 17% 13% 21%
into Britain has brought  ~Somewhat agree 30% 30% 26% 25% 30% 67% 37% 36%
Somewhat disagree 31% 29% 31% 21% 27% 0% 24% 23%
Strongly disagree 23% 27% 30% 36% 22% 17% 27% 20%
So far people in the Strongly agree 21% 17% 21% 23% 18% 0% 18% 22%
private sector have been
hit hardest by the pay  Somewhatagree 40% 35% 48% 40% 33% 67% 38% 40%
cuts and job losses,
‘grwgﬁo%zléchzﬁgogeen Somewhat disagree 27% 31% 23% 23% 37% 25% 29% 28%
largely protected with job _
security and generous Strongly disagree 12% 17% 8% 15% 12% 8% 14% 9%
pensions
If people manage to Strongly agree 16% 15% 26% 20% 19% 8% 20% 21%
e e el for” _Somewhat agree 50% 53% 50% 43% 46% 42% 47% 47%
tErir,itain rather than a bad Somewhat disagree 29% 27% 22% 29% 27% 50% 29% 27%
in
g Strongly disagree 6% 5% 2% 8% 7% 0% 3% 5%
The government should Strongly agree 40% 33% 40% 50% 40% 33% 26% 40%
intervene to try and make
ﬁtotﬁi_ety more eqdual, even Somewhat agree 43% 45% 40% 40% 39% 58% 51% 41%
if this means reducing
g\t"%% Stgapnggfvcaz lll‘oaf Sthose Somewhat disagree 15% 19% 18% 5% 16% 8% 17% 16%
raising them forthose at  “gtrongly disagree 2% 3% 2% 5% 4% 0% 6% 3%
Private companies Strongly agree 38% 32% 36% 43% 33% 33% 28% 32%
tte ey G any  ~Somewhat agree 36% 37% 36% 36% 39% 50% 35% 37%
public services like health  Somewhat disagree 23% 27% 23% 15% 25% 17% 32% 27%
and education -
Strongly disagree 3% 3% 5% 6% 3% 0% 4% 4%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Union Membership

ASLEF BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS NUM
On balance, immigration Strongly agree 36% 38% 35% 36% 21% 38% 18% 28% 48% 24%
into Britain has brought — ~Somewhat agree 36% 43% 42% 40% 31% 58% 31% 56% 43% 44%
Somewhat disagree 15% 15% 10% 16% 24% 4% 23% 5% 4% 17%
Strongly disagree 13% 4% 13% 9% 23% 0% 29% 10% 4% 15%
So far people in the Strongly agree 36% 31% 42% 33% 22% 35% 25% 32% 36% 37%
private sector have been
hit hardest by the _ pay  Somewhatagree 47% 40% 48% 53% 46% 58% 35% 50% 55% 39%
cuts and job losses,
while public sector Somewhat disagree 15% 25% 6% 13% 21% 4% 27% 13% 9% 20%
employees have been
largely protected with job
security and generous Strongly disagree 2% 4% 3% 0% 11% 4% 12% 5% 0% 5%
pensions
If people manage to Strongly agree 38% 38% 38% 35% 23% 48% 23% 32% 52% 40%
thatls & goodihing for_Somewhat agree 40% 46% 52% 44% 54% 40% 49% 54% 48% 43%
tErir,ltam rather than a bad Somewhat disagree 16% 12% 7% 19% 17% 12% 22% 8% 0% 13%
n
g Strongly disagree 7% 4% 3% 2% 6% 0% 6% 5% 0% 5%
The government should Strongly agree 43% 40% 45% 36% 36% 42% 39% 36% 52% 44%
intervene to try and make
society more equal, even  Somewhat agree 47% 42% 42% 51% 45% 38% 44% 49% 48% 46%
if this means reducing
living standards for those  gomewhat disagree 1% 13% 13% 13% 16% 19% 15% 10% 0% 10%
at the top as well as
raising them forthose at  “gtrongly disagree 0% 6% 0% 0% 3% 0% 2% 5% 0% 0%
Private companies Strongly agree 48% 53% 48% 43% 51% 52% 38% 49% 64% 49%
Egcr’t‘ft'g gg‘;ﬁ;hdaéﬁ,gﬂr{g Somewhat agree 37% 37% 45% 39% 34% 36% 35% 38% 36% 41%
pugllcdservtlpes like health  Somewhat disagree 13% 10% 6% 18% 14% 12% 23% 13% 0% 10%
ana eaucation
Strongly disagree 2% 0% 0% 0% 1% 0% 4% 0% 0% 0%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
TSSA UCATT [ UNISON s UNITE/T&G UNITY USDAW Labour parties

On balance, immigration Strongly agree 34% 30% 13% 17% 17% 38% 18% 15% 15%
into Britain has brought  ~Somewhat agree 31% 47% 29% 31% 28% 41% 22% 31% 29%

Somewhat disagree 9% 12% 33% 30% 21% 14% 30% 27% 30%

Strongly disagree 26% 12% 25% 22% 33% 7% 29% 26% 26%
So far people in the Strongly agree 29% 33% 13% 21% 26% 41% 31% 19% 19%
private sector have been
hit hardest by the pay  Somewhatagree 44% 44% 31% 40% 46% 45% 47% 38% 36%
cuts and job losses,
while public sector Somewhat disagree 21% 16% 34% 30% 19% 7% 19% 29% 30%
employees have been
largely protected with job
security and generous Strongly disagree 6% 7% 23% 9% 9% 7% 4% 14% 15%
pensions
If people manage to Strongly agree 33% 36% 14% 16% 24% 37% 19% 16% 19%
s e el for” _Somewhat agree 52% 48% 52% 51% 55% 52% 47% 50% 51%
tErir,itain rather than a bad Somewhat disagree 12% 14% 29% 25% 19% 4% 27% 28% 26%

in
g Strongly disagree 3% 2% 5% 8% 2% 7% 7% 6% 5%

The government should Strongly agree 34% 45% 39% 34% 34% 48% 33% 37% 36%
intervene to try and make
society more equal, even Somewhat agree 49% 45% 42% 47% 50% 45% 50% 44% 42%
if this means reducing
living standards for those  gomewhat disagree 14% 10% 16% 16% 1% 7% 16% 16% 17%
at the top as well as
raising them forthose at  “gtrongly disagree 3% 0% 3% 3% 4% 0% 2% 3% 4%
Private companies Strongly agree 50% 49% 36% 39% 40% 63% 34% 35% 34%
Egcr’t‘ft'g gg‘;ﬁ;hdaéﬁ,gﬂr{g Somewhat agree 44% 40% 37% 29% 39% 30% 40% 38% 35%
pugllcdservtlpes like health  Somewhat disagree 3% 9% 23% 28% 18% 7% 24% 24% 28%
and education

Strongly disagree 3% 2% 3% 4% 3% 0% 2% 4% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members

of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+

If you work hard, it is Strongly agree 27% 28% 27% 33% 32% 27% 23% 27% 23%
poseible to be successiul - g mewhat agree 42% 44% 41% 4% 42% 43% 43% 41% 46%
your background Somewhat disagree 23% 21% 24% 22% 17% 25% 24% 27% 21%

Strongly disagree 8% 7% 8% 4% 9% 6% 10% 6% 9%
The privatisation of British  Strongly agree 52% 54% 51% 33% 39% 48% 61% 68% 64%
Moo Thatohar =% ~Somewnat agree 33% 31% 35% 42% 44% 35% 26% 24% 25%
permanently damaged Somewhat disagree 12% 13% 12% 19% 14% 15% 10% 7% 8%
the British economy -

Strongly disagree 3% 3% 2% 6% 3% 2% 3% 1% 3%
Private schools should be Strongly agree 19% 21% 16% 19% 21% 17% 17% 17% 27%
e 2 Somewhat agree 29% 29% 28% 33% 28% 27% 25% 33% 31%
through the state system Somewhat disagree 38% 35% 41% 31% 39% 37% 43% 39% 32%

Strongly disagree 14% 15% 14% 17% 13% 19% 15% 10% 10%
People who live off state Strongly agree 45% 45% 45% 44% 49% 46% 45% 41% 43%
benefits should be S S S S S S S S S
required to work in the Somewhat agree 38% 35% 41% 35% 37% 40% 35% 41% 43%
community Somewhat disagree 13% 15% 11% 15% 10% 12% 16% 13% 10%

Strongly disagree 4% 5% 3% 6% 4% 2% 4% 5% 4%
Tax relief should be given Strongly agree 22% 24% 21% 20% 26% 25% 19% 20% 17%
onprivate health = . o Somewhat agree 45% 41% 50% 59% 49% 48% 45% 36% 35%
tsf?mNel-?éthe pressures on Somewhat disagree 20% 20% 20% 17% 19% 18% 21% 23% 24%

e

Strongly disagree 12% 15% 9% 4% 5% 9% 14% 21% 24%
Private company Boards Strongly agree 42% 43% 41% 28% 34% 38% 47% 48% 56%
should have to include
representatives of their Somewhat agree 48% 46% 50% 53% 52% 53% 44% 45% 36%
workforce to ensure that -
workers have a voice in Somewhat disagree 9% 9% 8% 19% 11% 7% 7% 7% 6%
Ny decisions Strongly disagree 2% 2% 1% 1% 2% 3% 1% 0% 1%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Socio-Economic Group Region
South East Wales &
AB Ci C2 DE (inc London) Midlands North South West Scotland
If you work hard, it is Strongly agree 29% 26% 28% 28% 26% 28% 26% 30% 32%
possible to be successiul -~ b o ee 43% 44% 42% 40% 46% 40% 42% 43% 41%
in Britain no matter what
your background Somewhat disagree 22% 23% 21% 23% 22% 24% 24% 21% 20%
Strongly disagree 6% 7% 9% 9% 6% 9% 8% 6% 8%
The privatisation of British  Strongly agree 51% 52% 54% 52% 46% 52% 55% 57% 55%
Maroaret Thatohor > Y~ Somewnat agree 33% 33% 32% 33% 36% 32% 32% 29% 30%
permanently damaged Somewhat disagree 13% 13% 1% 12% 14% 14% 10% 1% 15%
the British economy -
Strongly disagree 3% 3% 2% 3% 3% 2% 3% 2% 1%
Private schools should be Strongly agree 19% 19% 20% 17% 21% 18% 17% 19% 21%
S et 0o Somewhat agree 30% 27% 28% 30% 26% 30% 30% 26% 28%
through the state system Somewhat disagree 34% 39% 41% 40% 37% 40% 39% 37% 39%
Strongly disagree 17% 15% 12% 13% 16% 12% 14% 18% 13%
People who live off state Strongly agree 43% 47% 48% 37% 42% 45% 45% 49% 51%
benefits should be Somewhat 42% 38% 35% 39% 40% 40% 39% 33% 32%
required to work in the omewnat agree ° ° ° ° ° ° ° ° °
community Somewhat disagree 12% 11% 13% 18% 15% 12% 12% 13% 12%
Strongly disagree 3% 4% 4% 6% 4% 3% 4% 5% 5%
Tax relief should be given Strongly agree 19% 20% 27% 24% 24% 21% 21% 26% 22%
on private health Somewhat agree 38% 46% 49% 50% 43% 47% 49% 38% 42%
insurance so as to relieve
some of the pressures on Somewhat disagree 24% 21% 16% 20% 20% 20% 19% 23% 23%
the NHS Strongly disagree 19% 13% 8% 6% 13% 12% 12% 13% 12%
Private company Boards Strongly agree 42% 41% 45% 39% 43% 43% 39% 45% 48%
should have to include
representatives of their Somewhat agree 46% 49% 47% 51% 47% 46% 53% 38% 44%
pkf t that
workforce to ensure tha
workers have a voice in Somewhat disagree 10% 9% 6% 9% 9% 10% 7% 15% 6%
the key decisi .
affecting them Strongly disagree 2% 1% 2% 1% 1% 2% 1% 3% 3%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not
a week) a week) a week) ick seeking work Retired Student

If you work hard, it is Strongly agree 27% 25% 38% 29% 30% 26% 36%
possible to be successiul - Tg koo ree 43% 42% 36% 42% 36% 44% 39%
in Britain no matter what 9
your background Somewhat disagree 22% 25% 21% 21% 26% 24% 16%

Strongly disagree 8% 7% 5% 8% 8% 6% 9%
The privatisation of British  Strongly agree 51% 50% 41% 57% 53% 67% 31%
Maroaret Thatohor -2~ Somewhat agree 34% 35% 41% 30% 28% 23% 40%
permanently damaged Somewhat disagree 13% 12% 18% 11% 16% 8% 19%
the British economy -

Strongly disagree 3% 2% 0% 2% 4% 2% 10%
Private schools should be Strongly agree 19% 16% 26% 24% 18% 21% 16%
banned so that all Somewhat 27% 287 26°% 287 27% 34% 35%
children have to go omewnat agree ) ) ) ) o (s o
through the state system Somewhat disagree 39% 43% 33% 1% 44% 33% 29%

Strongly disagree 15% 14% 15% 7% 10% 12% 19%
People who live off state Strongly agree 50% 46% 31% 20% 23% 42% 36%
iyt ﬁgﬁfkblﬁ the Somewhat agree 37% 40% 38% 45% 38% 40% 43%
community Somewhat disagree 11% 12% 18% 22% 26% 13% 13%

Strongly disagree 3% 2% 13% 13% 13% 5% 7%
Tax relief should be given Strongly agree 24% 19% 26% 23% 17% 16% 23%
on private health
insurance so as to relieve Somewhat agree 46% 51% 36% 48% 44% 34% 55%
tsﬁm’\e] I—cl)éthe pressures on Somewhat disagree 19% 20% 23% 17% 25% 26% 12%

e

Strongly disagree 10% 10% 15% 13% 14% 23% 10%
Private company Boards Strongly agree 42% 40% 46% 44% 37% 51% 25%
should have to include
representatives of their Somewhat agree 48% 52% 44% 54% 47% 40% 52%
workforce to ensure that -
workers have a voice in Somewhat dlsagree 8% 8% 10% 2% 13% 8% 22%
he k isi
the key decisions Strongly disagree 2% 1% 0% 0% 3% 1% 1%

affecting them
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
If you work hard, it is Strongly agree 28% 26% 29% 28% 30% 25% 33% 31%
poseible to be successil - g o mewhat agree 42% 43% 38% 4% 39% 50% 46% 42%
your background Somewhat disagree 22% 24% 26% 17% 22% 25% 15% 21%
Strongly disagree 7% 7% 7% 13% 8% 0% 5% 6%
The privatisation of British  Strongly agree 59% 51% 45% 53% 50% 42% 46% 51%
Moo Thatohar =% ~Somewnat agree 29% 33% 36% 34% 35% 58% 33% 33%
permanently damaged Somewhat disagree 10% 13% 17% 1% 14% 0% 13% 13%
the British economy -
Strongly disagree 2% 3% 2% 3% 1% 0% 8% 3%
Private schools should be Strongly agree 21% 16% 20% 27% 21% 25% 15% 22%
banned so that all Somewhat 30% 26% 33% 28% 31% 42% 29% 31%
children have to go omewnat agree () () () () () (] () (]
through the state system Somewhat disagree 36% 42% 34% 31% 35% 33% 41% 32%
Strongly disagree 12% 16% 13% 15% 13% 0% 14% 14%
People who live off state Strongly agree 45% 50% 34% 30% 41% 33% 46% 38%
benefits should be S S S S S S S S S
required to work in the omewhat agree 38% 38% 39% 36% 38% 50% 40% 41%
community Somewhat disagree 13% 10% 18% 26% 16% 17% 9% 15%
Strongly disagree 4% 2% 9% 8% 6% 0% 5% 5%
Tax relief should be given Strongly agree 20% 23% 23% 25% 25% 17% 19% 26%
on private health 3 S 3 S 3 S S S
insurance so as to relieve Somewhat agree 38% 47% 54% 50% 45% 50% 52% 40%
f}?mﬁ l_?é the pressures on  Somewhat disagree 21% 20% 18% 17% 19% 25% 22% 21%
e
Strongly disagree 20% 11% 5% 9% 10% 8% 8% 13%
Private company Boards Strongly agree 46% 40% 39% 50% 45% 25% 25% 42%
should have to include
representatives of their Somewhat agree 46% 50% 48% 43% 43% 75% 54% 45%
workforce to ensure that -
workers have a voice in Somewhat disagree 7% 8% 12% 3% 11% 0% 20% 11%
Ny decsons Strongly disagree 1% 2% 1% 4% 1% 0% 1% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Union Membership

ASLEF BECTU BFAWU | COMMUNITY CWuU GFTU GMB MU NACODS NUM

If you work hard, it is Strongly agree 43% 40% 50% 43% 23% 42% 28% 36% 52% 39%
poseible to be successiul - g o mewhat agree 36% 36% 30% 36% 47% 46% 44% 41% 39% 39%
your background Somewhat disagree 17% 21% 17% 20% 23% 12% 21% 18% 9% 12%

Strongly disagree 4% 4% 3% 0% 7% 0% 7% 5% 0% 10%
The privatisation of British  Strongly agree 53% 46% 42% 40% 66% 42% 50% 39% 50% 46%
Maronrer s =% ~Somewhat agree 32% 31% 45% 44% 24% 42% 32% 45% 4% 37%
permanently damaged Somewhat disagree 1% 17% 10% 13% 9% 12% 13% 13% 5% 15%
the British economy -

Strongly disagree 4% 6% 3% 2% 2% 4% 5% 3% 5% 2%
Private schools should be Strongly agree 43% 40% 45% 40% 29% 46% 21% 45% 64% 44%
banned so that all Somewhat 34% 38% 39% 40% 20% 46% 34% 42% 32% 37%
children have to go omewnat agree (] () ) ) ) (] () () (] )
through the state system  Somewhat disagree 17% 15% 6% 18% 37% 8% 36% 1% 5% 15%

Strongly disagree 6% 6% 10% 2% 14% 0% 9% 3% 0% 5%
People who live off state Strongly agree 51% 43% 52% 42% 49% 50% 50% 41% 61% 44%
benefits should be S S S S S S S S S S
required to work in the Somewhat agree 38% 43% 39% 44% 40% 35% 36% 33% 35% 39%
community Somewhat disagree 9% 1% 6% 9% 10% 12% 13% 15% 4% 12%

Strongly disagree 2% 2% 3% 4% 1% 4% 1% 10% 0% 5%
Tax relief should be given Strongly agree 40% 38% 35% 38% 31% 54% 26% 34% 55% 37%
on private health 5 S S S 3 S S S S 3
insurance so as to relieve  Somewhat agree 43% 42% 42% 40% 41% 38% 49% 50% 41% 41%
ﬁ?mﬁ I-?éthe pressures on Somewhat disagree 13% 15% 16% 16% 18% 8% 17% 8% 5% 10%

e

Strongly disagree 4% 4% 6% 7% 11% 0% 8% 8% 0% 12%
Private company Boards Strongly agree 40% 40% 39% 31% 49% 38% 43% 37% 39% 41%
should have to include
representatives of their Somewhat agree 47% 47% 48% 60% 47% 54% 48% 55% 48% 46%
workforce to ensure that -
workers have a voice in Somewhat disagree 9% 13% 6% 7% 3% 8% 7% 8% 13% 10%
Mgy Jecsons Strongly disagree 4% 0% 6% 2% 1% 0% 1% 0% 0% 2%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
TSSA UCATT [ UNISON s UNITE/T&G UNITY USDAW Labour parties

If you work hard, it is Strongly agree 38% 44% 26% 33% 31% 59% 28% 28% 26%
poseible to be successiul - g o mewnat agree 4% 37% 42% 40% 40% 24% 37% 42% 43%
your background Somewhat disagree 18% 12% 24% 20% 19% 17% 28% 22% 24%

Strongly disagree 3% 7% 8% 7% 9% 0% 6% 8% 7%
The privatisation of British ~ Strongly agree 44% 49% 55% 52% 55% 45% 38% 54% 49%
industries and utilities by

Somewhat agree 44% 37% 31% 27% 34% 41% 44% 33% 32%
Margaret Thatcher
permanently damaged Somewhat disagree 9% 12% 1% 17% 7% 7% 17% 10% 16%
the British economy Strongly disagree 3% 2% 29 5% 4% 7% 2% 3% 3%

(o] (e} o o o o (o] (o] (o]

Private schools should be Strongly agree 47% 35% 17% 21% 24% 55% 20% 19% 17%
e o2 Somewhat agree 41% 40% 27% 25% 29% 28% 32% 29% 27%
through the state system  Somewhat disagree 12% 16% 42% 36% 34% 3% 41% 39% 38%

Strongly disagree 0% 9% 13% 17% 13% 14% 7% 13% 17%
People who live off state Strongly agree 54% 47% 47% 49% 55% 45% 54% 42% 50%
benefits should be S S 3 S S S S S S
required to work in the Somewhat agree 37% 47% 41% 34% 33% 38% 31% 40% 36%
community Somewhat disagree 9% 5% 10% 13% 9% 17% 1% 14% 1%

Strongly disagree 0% 2% 2% 4% 4% 0% 4% 4% 3%
Tax relief should be given Strongly agree 41% 33% 20% 26% 31% 52% 24% 22% 23%
onprivate health = . o Somewhat agree 50% 47% 48% 44% 46% 41% 60% 45% 45%
some of the pressures on Somewhat disagree 9% 19% 20% 17% 12% 3% 12% 20% 21%
the NHS Strongly disagree 0% 2% 12% 14% 11% 3% 4% 13% 12%
Private company Boards Strongly agree 46% 40% 41% 47% 45% 41% 37% 42% 42%
should have to include
representatives of their Somewhat agree 46% 51% 49% 44% 50% 48% 50% 47% 49%
workforce to ensure that -
workers have a voice in Somewhat disagree 9% 9% 8% 7% 4% 10% 12% 9% 7%
the key decisions Strongly disagree 0% 0% 1% 2% 1% 0% 2% 1% 2%
affecting them
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Gender Age
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+
Higher education is a Strongly agree 52% 50% 53% 48% 43% 52% 50% 60% 64%
right, not a privilege Somewhat agree 34% 33% 34% 29% 41% 32% 36% 28% 26%
Somewhat disagree 12% 14% 10% 19% 12% 12% 11% 9% 8%
Strongly disagree 3% 4% 3% 4% 3% 4% 3% 3% 2%
Britain should aspire to Strongly agree 32% 33% 31% 31% 30% 32% 32% 32% 38%
be more like Scandinavia - ~gomewnat agree 51% 49% 53% 46% 51% 51% 52% 55% 44%
Somewhat disagree 14% 15% 13% 19% 16% 13% 14% 11% 16%
Strongly disagree 2% 2% 2% 4% 2% 3% 1% 2% 2%
Cannabis should be Strongly agree 12% 14% 10% 17% 18% 8% 10% 11% 10%
legalised Somewhat agree 27% 26% 28% 31% 31% 28% 24% 27% 23%
Somewhat disagree 26% 23% 28% 21% 25% 29% 26% 23% 27%
Strongly disagree 35% 36% 34% 31% 26% 35% 40% 39% 41%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Socio-Economic Group Region
South East Wales &

AB C1 C2 DE (inc London) Midlands North South West Scotland

Higher education is a Strongly agree 52% 50% 55% 50% 49% 47% 51% 53% 64%
right, not a privilege Somewhat agree 33% 33% 32% 38% 35% 34% 34% 33% 26%
Somewhat disagree 12% 13% 10% 10% 12% 15% 10% 10% 9%

Strongly disagree 3% 4% 3% 3% 3% 4% 4% 3% 2%

Britain should aspire to Strongly agree 37% 34% 30% 27% 32% 29% 32% 33% 39%
be more like Scandinavia  ~g;ewnat agree 48% 52% 53% 51% 50% 54% 52% 49% 47%
Somewhat disagree 14% 12% 15% 18% 15% 15% 13% 16% 12%

Strongly disagree 1% 2% 2% 4% 3% 2% 2% 2% 2%

Cannabis should be Strongly agree 14% 12% 11% 10% 16% 11% 11% 9% 10%
legalised Somewhat agree 27% 29% 25% 28% 27% 31% 28% 19% 27%
Somewhat disagree 27% 27% 24% 24% 23% 25% 27% 31% 24%

Strongly disagree 32% 32% 40% 38% 34% 33% 34% 42% 39%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Working Status

Not working
but seeking
work,
Working full Working part Working part temporarily Not
time (30+ hrs time (8-29 hrs time (1-7 hrs unemployed/s working/not

a week) a week) a week) ick seeking work Retired Student
Higher education is a Strongly agree 50% 53% 51% 54% 44% 59% 54%
right, not a privilege Somewnhat agree 35% 34% 33% 29% 42% 28% 25%
Somewhat disagree 12% 10% 13% 11% 9% 10% 19%
Strongly disagree 3% 3% 3% 7% 5% 2% 3%
Britain should aspire to Strongly agree 32% 27% 26% 40% 27% 37% 34%
be more like Scandinavia  ~g; owhat agree 51% 59% 54% 49% 48% 50% 41%
Somewhat disagree 15% 12% 18% 7% 19% 10% 22%
Strongly disagree 2% 2% 3% 4% 5% 2% 3%
Cannabis should be Strongly agree 12% 10% 8% 15% 20% 9% 16%
legalised Somewhat agree 27% 29% 37% 30% 24% 24% 29%
Somewhat disagree 27% 23% 24% 25% 20% 26% 26%
Strongly disagree 33% 39% 32% 30% 36% 40% 29%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Party
Housing Tenure Membership
Owned
outright Owned with a Rented from Rented from
(without mortgage or Rented from housing someone Living with
mortgage) loan Council association else Rent free relatives Labour Party
Higher education is a Strongly agree 54% 49% 49% 62% 54% 50% 46% 52%
right, not a privilege Somewhat agree 31% 35% 41% 23% 34% 50% 33% 32%
Somewhat disagree 12% 12% 8% 9% 10% 0% 17% 12%
Strongly disagree 3% 4% 2% 6% 2% 0% 3% 4%
Britain should aspire to Strongly agree 34% 31% 24% 38% 40% 8% 22% 35%
be more like Scandinavia -~ g5 mewnat agree 51% 53% 57% 41% 46% 67% 54% 49%
Somewhat disagree 13% 14% 17% 15% 10% 17% 23% 14%
Strongly disagree 1% 2% 1% 6% 4% 8% 2% 3%
Cannabis should be Strongly agree 13% 10% 13% 12% 16% 9% 16% 16%
legalised Somewhat agree 26% 26% 28% 34% 30% 36% 27% 28%
Somewhat disagree 24% 30% 20% 20% 17% 18% 27% 23%
Strongly disagree 37% 33% 39% 33% 38% 36% 30% 33%

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Union Membership

ASLEF | BECTU | BFAWU | COMMUNITY | CWU GFTU GMB MU NACODS | NUM
Higher education is a Strongly agree 64% 56% 58% 56% 54% 62% 54% 54% 70% 59%
right, not a privilege Somewhat agree 23% 29% 19% 27% 30% 23% 31% 23% 2% 24%
Somewhat disagree 9% 12% 19% 16% 14% 12% 13% 21% 4% 10%
Strongly disagree 4% 4% 3% 2% 2% 4% 1% 3% 4% 7%
Britain should aspire to Strongly agree 40% 43% 45% 42% 36% 46% 36% 41% 43% 27%
be more like Scandinavia  ~ g5 mewnat agree 40% 38% 45% 42% 43% 42% 49% 49% 43% 51%
Somewhat disagree 17% 17% 6% 13% 20% 8% 14% 5% 9% 17%
Strongly disagree 2% 2% 3% 2% 1% 4% 1% 5% 4% 5%
Cannabis should be Strongly agree 47% 42% 58% 42% 27% 54% 17% 43% 73% 44%
legalised Somewhat agree 26% 33% 19% 29% 19% 42% 29% 41% 23% 34%
Somewhat disagree 13% 12% 13% 22% 19% 4% 25% 8% 5% 7%
Strongly disagree 15% 13% 10% 7% 35% 0% 30% 8% 0% 15%
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Populus interviewed 2010 adults aged 18+ online between 3rd and 14th September 2010. ALL had voted Labour in the 2010 General Election, AND were members
of the Labour Party AND / OR were members of an affiliated Trade Union

Do you strongly agree, somewhat agree, somewhat disagree or strongly disagree with each of the following statements?

Voting History at General

Union Membership Elections
Voted for a
Only ever number of
UNITE/Amicu voted for different
TSSA UCATT [ UNISON S UNITE/T&G UNITY USDAW Labour parties

Higher education is a Strongly agree 57% 53% 52% 57% 54% 76% 55% 53% 49%
right, not a privilege Somewhat agree 23% 30% 35% 31% 34% 14% 3% 3% 34%
Somewhat disagree 17% 12% 10% 9% 9% 10% 8% 11% 13%
Strongly disagree 3% 5% 3% 3% 3% 0% 5% 3% 4%
Britain should aspire to Strongly agree 46% 40% 32% 30% 33% 34% 28% 32% 34%
be more like Scandinavia  ~ g5 mewnat agree 37% 49% 54% 56% 51% 52% 52% 51% 51%
Somewhat disagree 11% 7% 12% 9% 14% 10% 18% 15% 13%
Strongly disagree 6% 5% 2% 5% 1% 3% 3% 2% 3%
Cannabis should be Strongly agree 47% 45% 11% 16% 17% 52% 18% 12% 12%
legalised Somewhat agree 26% 31% 28% 25% 19% 28% 23% 26% 29%
Somewhat disagree 15% 14% 28% 23% 26% 3% 22% 25% 26%
Strongly disagree 12% 10% 33% 37% 38% 17% 37% 36% 32%
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